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B.Com. DEGREE EXAMINATION, NOVEMBER 2022 

First Semester 

Commerce 

ADVANCED ACCOUNTANCY — I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Book Keeping. 

 PnUS¨ £vÂ¯À – Áøμ¯Ö 

2. What are the golden rules of accounting? 

 PnUQ¯¼ß u[P ÂvPÒ ¯õøÁ?  

3. What is meant by ‘Compensating Error’? 

 Dk Pmk® ¤øÇ GßÓõÀ GßÚ? 

4. What is Bank Reconciliation Statement? 

 Á[Q \›Pmk® £mi¯À GßÓõÀ GßÚ? 

5. Why is depreciation to be provided? 

 Hß ÷u´©õÚ® PnUQh¨£h ÷Ásk®? 

6. Define straight line method. 

÷|º÷Põk •øÓ°À ÷u´©õÚ® – Áøμ¯Ö. 

Sub. Code 
7BCO1C1 
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7. State the term ‘direct expenses’. 

 ÷|μia ö\»ÄPÒ Gß£uß ö£õ¸Ò ¯õx? 

8. Write a note on ‘Non-Trading Organisation’. 

 C»õ£ ÷|õUP©ØÓ Aø©¨¦PÒ £ØÔ SÔ¨¦ ÁøμP. 

9. Give the meaning of average due date. 

 \μõ\› uÁøn |õøÍ £ØÔ ö£õ¸ÎøÚz u¸P. 

10. What is interest? 

 Ámi GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the ‘Accounting Conventions’. 

  PnUQ¯¼ß ©μ¦PøÍ ÂÁ›. 

Or 

 (b) From the following information prepare a Trial 

Balance : 

 Rs.  Rs. 

Cash  28,650 Furniture 3,000

Capital 50,000 Creditors 2,800

Investment 13,500 Salary 1,000

Wages 200 Debtors 2,000

Sales 7,500 Purchases 10,100

Drawings 1,250 Stationary 100
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  RÌPõq® ÂÁμ[PÎ¼¸¢x J¸ C¸¨£õ´Ä u¯õº 
ö\´P. 

 ¹.  ¹. 

öμõUP® 28,650 AøÓP»ß 3,000

•uÀ 50,000 PhÜ¢÷uõº 2,800

•u½k 13,500 \®£Í® 1,000

T¼ 200 PhÚõÎPÒ 2,000

ÂØ£øÚ 7,500 öPõÒ•uÀ 10,100

Gk¨¦ 1,250 GÊxö£õ¸Ò 100

12. (a) What are the types of errors? Explain. 

  PnUQ¯À ¤øÇPÎß ÁøPPÒ ¯õøÁ? ÂÍUSP. 

Or 

 (b) Rectify the following errors : 

  (i) Total of purchases book is totaled Rs. 1,000 
excess. 

  (ii) A sales Gopal Rs. 320 has been extered in 
sales book as Rs. 230. 

  (iii) Total of sales book is totaled Rs. 5,000 less 

  (iv) Sold goods to Arun Rs. 500 wrongly entered in 
Ram’s a/c.  

  ¤ßÁ¸® ¤øÇPÎ¼¸¢x \›PmhÀ ö\´P. 

  (i) öPõÒ•uÀ ¦zuP® ¹.1,000 AvP©õP 
Tmh¨£mhx. 

  (ii) ÷Põ£õ¾US ÂØÓ öuõøP ¹.320, Ax ÂØ£øÚ 
¦zuPzvÀ ¹.230 GÚ GÊu¨£mkÒx. 

  (iii) ÂØ£øÚ ¦zuP® ¹.5,000 SøÓÁõP 
Tmh¨£mhx. 

  (iv) A¸qUS ÂØÓ ¹.500, μõ©oß PnUQÀ 
£v¯¨£mhx.  
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13. (a) A machine was purchased for Rs. 30,000 on 
1.1.2018. It is expected to last for 5 years. 
Estimated scrap at the end Rs. 5,000. Find out the 
rate of depreciation. 

  1.1.2018 AßÖ ¹. 30,000 ©v¨¤ØS J¸ C¯¢vμ® 
Áõ[P¨£mhx. Auß B²Ò Põ»® 5 BskPÒ GÚ 
Gvº£õºUP¨£kQÓx. ©v¨¤h¨£mh GÔ©v¨¦ 
Bsk CÖv°À ¹. 5,000. ÷u´©õÚ ÂQuzvøÚU 
PnUQkP  

Or 

 (b) What are the causes for depreciation? 
  ÷u´©õÚzvØPõÚ Põμn[PÒ ¯õx? 

14. (a) Prepare the Profit and Loss a/c for the year ended 
31st March 2018. 

 Rs. 

Gross Profit 80,000

Salary 10,000

Insurance Premium 8,000

Advertisement expenses 16,000

Rend Paid 8,000

Interest Received  6,000

  RÌPsh Â£μ[PøÍU öPõsk 31.3.2018 ® 
÷uv÷¯õk •iÄÖ® BsiØS C»õ£ |mhU 
PnUQøÚz u¯õ›UPÄ®. 

 ¹. 

ö©õzu C»õ£® 80,000
\®£Í® 10,000
Põ¨¥k •øÚ©® 8,000
ÂÍ®£μa ö\»Ä 16,000
ÁõhøP ö\¾zv¯x 8,000
Ámi ö£ØÓx  6,000

Or 
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 (b) From the following details, calculate the amount to 
be shown in the income and expenditure account 
during the year 2018. 

  Subscription received as per Receipts and Payments 
Account Rs. 28,680 

 On 
1.1.2018 

On 
31.12.2018

 Rs. Rs. 

Subscription outstanding 2,400 3,000 

Subscription received in advance 1,800 1,080 

  RÌUPõq® Â£μ[PÎ¼¸¢x |h¨¦ 2018 B® 
BsiÀ Á¸Áõ´ ö\»ÂÚU PnUQÀ GzöuõøP 
Põs¤UP¨£k® Gß£øu PnUQkP. 

  ö£ÖuÀ ö\¾zxuÀ PnUQß£i ö£Ó¨£mh \¢uõ 
öuõøP 28,680. 

 1.1.2018
¹. 

31.12.2018
¹. 

{¾øÁ¯õ´ EÒÍ \¢uõ 2,400 3,000 

•ßTmi÷¯ ö£ØÓ \¢uõ 1,800 1,080 

15. (a) Find out the average due date of the following bills 
accepted by a trader. 

Due Date Amount
Rs. 

10.3.2018 300

02.4.2018 1,000

30.4.2018 4,000

10.6.2018 100
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  J¸ ÁoPμõÀ J¨¦uÀ AÎzu RÌUPõq® 
Esi¯ÀPÐUPõÚ \μõ\› uÁøn |õøÍU 
PnUQkP. 

 
öPk ÷uv 

Esi¯À 
öuõøP 

¹. 

10.3.2018 300

02.4.2018 1,000

30.4.2018 4,000

10.6.2018 100

Or 

 (b) What are the uses of Average Due Date? 

  \μõ\› uÁøn |õÎß |øh•øÓ £¯ß£õkPÒ 
¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Pass Journal entries from the following transactions : 

2018 

Jan. 

 Rs. 

1 Started business with cash 1,00,000 

5 Paid into bank 30,000

6 Cash purchases 20,000

8 Sold goods to Arun 15,000

14 Withdrawn for personal use 10,000

18 Paid Salaries 8,000

20 Sale of Furniture 6,000

22 Goods returned by Arun 5,000
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 RÌPõq® |hÁiUøPPÐUS SÔ¨÷£mk £vÄ ö\´P. 

2018 
áÚÁ› 

 ¹. 

1 öuõhUPzxhß Â¯õ£õμ® öuõh[Q¯x 1,00,000 

5 Á[Q°À ö\¾zv¯x 30,000

6 öμõUP öPõÒ•uÀ 20,000

8 A¸qUS ÂØ£øÚ ö\´ux 15,000

14 ö\õ¢u ö\»ÂØS £n® Gkzux 10,000

18 \®£Í® ö\¾zv¯x 8,000

20 AøÓP»ß ÂØÓx 6,000

22 A¸ohª¸¢x \μUS v¸®£ ö£ØÓx 5,000

17. Pass rectification entries for the following transactions : 

 (a) A builder’s bill for Rs. 4,600 for the erection of a 
small sheed was debited to repairs account. 

 (b) A cheque for Rs. 750 received from Mohan was 
credited to the account of Parvathi. 

 (c) Goods to the value of Rs. 700 returned by Williams 
were included in closing stock, but not entry was in 
the books. 

 (d) The sales day book was overcost by Rs. 3,000. 

 RÌUPsh |hÁiUøPPÐUS v¸zv¯ £vÄPøÍz u¸P. 

 (A) J¸ Pmih® Pmk£Áº ¹. 4,600 ö\»ÂÀ {ÖÂ¯ 
J¸ ]Ö öPõmhøPUPõÚ μ^xz öuõøP £Êx£õºUS® 
PnUQÀ £ØÖ øÁUP¨£mi¸¢ux. 

 (B) ÷©õPÛhª¸¢x ö£ØÓ Põ÷\õø» ¹.750, £õºÁv 
PnUQÀ ÁμÄ øÁUP¨£mi¸¢ux. 

 (C) ÂÀ¼¯®ì v¸®¤¯Ý¨¤¯ ¹.700 ©v¨¦øh¯ 
\μUS, CÖva \μUQ¸¨¤À ÷\ºUP¨£mi¸¢x® 
AuØPõÚ £vÄ HkPÎÀ Põn¨£hÂÀø». 

 (D) ÂØ£øÚ HmiÀ ¹.3,000 AvP©õP Tmi 
GÊu¨£mi¸¢ux. 
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18. A Machine was purchased on 1.1.2017 for Rs. 30,000 and 
installation expenses incurred Rs. 10,000. On 1st July 
2018, another machine was purchased for Rs. 26,000 on 
1st July 2019 the first machine was sold for Rs. 30,000 on 
the same day. 

 One more machine was bought for Rs. 25,000. Accounts 
are closed every year on 31st December. Depreciation is 
charged @ 15% on written down value method. Prepare 
the machinery account for 3 years ending 31.12.2019. 

 J¸ {Ö©® 1.1.2017 AßÖ ¹.30,000&US C¯¢vμ® 
JßøÓ Áõ[Q¯x. C¯¢vμ ö£õ¸zxøP ö\»Ä ¹. 10,000. 
1.7.2018 AßÖ ÷©¾® J¸ C¯¢vμzøu ¹.26,000&zvØS 
Áõ[Q¯x. 1.7.2019 AßÖ uÚx •uÀ C¯¢vμzøu 
¹.30,000&zvØS ÂØ£øÚ ö\´ux. A÷u |õÎÀ ÷©¾® 
J¸ C¯¢vμzøu C¢{ÖÁÚ® ¹.25,000&zvØS Áõ[Q¯x. 
PnUSPÒ AøÚzx® JÆöÁõ¸ Bsk® i\®£º 31, 
AßÖ •iUP¨£k® GÚ öPõsk ‰ßÖ BskPÐUS 
i\®£º 31, AßÖ •iUP¨£k® GÚ öPõsk ‰ßÖ 
BskPÐUS C¯¢vμ PnUøP u¯õº ö\´P. ÷u´©õÚ 
ÂQu® BskUS 15% SøÓ¢x ö\À ©v¨¦ •øÓ°À 

19. Prepare the Trading Account, Profit and Loss account for 
the year ended 31st March 2018 and Balance Sheet as on 
date : 

Particular Rs. Particular Rs. 

Opening Stock 10,000 Capital 40,000

Purchase 90,000 Sales 1,45,000

Wage 12,000 Creditors 25,000

Cash 8,000 

Machinery 50,000 

Debtors 23,000 

Insurance 7,000 

Office Expenses 10,000 

 2,10,000 2,10,000
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 Adjustments : 

 (a) Closing Stock Rs. 20,000 

 (b) 10% Depreciation on Machinery 

 (c) 5% bad debts 

 (d) Prepaid Insurance Rs. 2,000 

 2018 ©õºa 31 ® ÷uv÷¯õk •iÄÖ® BsiØS›¯ 

Â¯õ£õμU PnUS, C»õ£ |mhU PnUS ©ØÖ® 

A¢|õøÍ¯ C¸¨¦ {ø»U SÔ¨¤øÚz u¯õ›UPÄ®. 

 ÂÁμ® ¹.  ÂÁμ® ¹. 

öuõhUPa \μUS C¸¨¦ 10,000 •uÀ 40,000

öPõÒ•uÀ 90,000 ÂØ£øÚ 1,45,000

T¼ 12,000 PhÜ¢÷uõº 25,000

öμõUP® 8,000 

C¯¢vμ® 50,000 

PhÚõÎPÒ 23,000 

Põ¨¥k 7,000 

A¾Á»Pa ö\»ÄPÒ 10,000 

 2,10,000 2,10,000

 \›UPmkuÀPÒ : 

 (A) CÖv \μUQ¸¨¦ ¹. 20,000 

 (B) 10% C¯¢vμzvß «x ÷u´©õÚ® 

 (C) 5% ÁõμõUPhß 

 (D) •ßTmi÷¯ ö\¾zv¯ Põ¨¥k ¹. 2,000 
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20. From the following particulars, you are required to 
ascertain the Average Due Date : 

Due Date Amount of the Bill
Rs. 

18.5.2018 1,100 

24.6.2018     625 

30.7.2018 1,800 

18.9.2018 1,750 

20.10.2018 1,000 

24.11.2018    500 

  ¤ßÁ¸® Â£μ[PÎ¼¸¢x \μõ\› uÁøn |õÒ 
GßÚ Gß£øuU PshÔ¯Ä®. 

uÁøn |õÒ ©õØÖa^mk 
öuõøP 

¹. 

18.5.2018 1,100 

24.6.2018     625 

30.7.2018 1,800 

18.9.2018 1,750 

20.10.2018 1,000 

24.11.2018    500 

 

 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2022 

First Semester 

Commerce 

BUSINESS ORGANISATION 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Business. 

 ÁoP® Áøμ¯øÓ. 

2. Who is Business man?  

 Â¯õ£õ› Gß£Áº ¯õº? 

3. What is mean by sole proprietor?  

 E›ø©¯õÍº GßÓõÀ GßÚ? 

4. Define limited partnership.  

 Áøμ¯ÖUP¨£mh Tmhõsø© Áøμ¯øÓ. 

5. What do you meant by business firm?  

 Â¯õ£õμ {Ö©® GßÓõÀ GßÚ? 

6. Give the example of two business firm in India.  

 C¢v¯õÂÀ EÒÍ C¸ Â¯õ£õμ {ÖÁÚ[PÒ 
GkzxPõmkP. 

Sub. Code 
7BCO1C2 
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7. Who is appointed as a managing Director.  

 ÷©»õsø© C¯USÚøμ {¯ª¨£Áº ¯õº? 

8. Define oligarchy  

 ußÚU SÊÂøÚ Áøμ¯Ö. 

9. Define a public utility.  

 ö£õx £¯ß£õk Áøμ¯Ö. 

10. What is meant by price policy?  

 Âø»U öPõÒøP GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the objectives of Business? 

  ÁoPzvß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Explain the Industrial revolution of Business.  

  ÁoPzvß öuõÈÀxøÓ ¦μm]ø¯ ÂÍUSP. 

12. (a) Explain the role of soletrading concern in the 
society.  

  \•uõ¯zvß uÛ|£º ÁºzuPzvß £[QøÚ ÂÍUSP. 

Or 

 (b) What are the features of joint stock company?  

  Tmk £[S {ÖÁÚzvß A®\[PÒ ¯õøÁ? 
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13. (a) What are the steps involved in forming a business 
firms? 

  ÁoP {ÖÁÚ[PøÍ E¸ÁõUSÁvÀ GßÚ 
£i{ø»PÒ EÒÍÚ? 

Or 

 (b) What are the factors affecting optimum size of 

business?  

  Ezu© AÍÄ Â¯õ£õμzøu £õvUPU Ti¯ PõμoPÒ 

¯õøÁ? 

14. (a) What are the power of Board of Directors?  

  C¯US|ºPÒ SÊÂß AvPõμ[PÒ GßÚ? 

Or 

 (b) Write short notes on the chief Executive.  

  uø»ø© {ºÁõQ SÔzx ]Ö SÔ¨¦. 

15.  (a) Difference between public and private sector in 

Government Business.  

  Aμ_ ÁoPzvß ö£õx ©ØÖ® uÛ¯õº xøÓUS® 

Cøh°»õÚ ÷ÁÖ£õk ¯õøÁ? 

Or 

 (b) What are the Characteristics of price policy? 

  Âø»UöPõÒøP°ß £s¦PÒ ¯õøÁ? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the principles of Business organisation. 

 ÁoP Aø©¨¤ß öPõÒøPPøÍ ÂÁ›. 

17. What are the different between sole trader and 
partnership.  

 uÛ ÁõoPzvØS® ©ØÖ® Tmhõsø©US® Cøh°»õÚ 
÷ÁÖ£õkPÒ ¯õøÁ? 

18. Discuss the merits and demerits of large scale production.  

 ö£›¯ AÍÂ»õÚ EØ£zv°ß |ßø© ©ØÓ® wø©PøÍ 
ÂÁõv. 

19. Explain the structure of the company management.  

 {ÖÁÚ ÷©»õsø©°ß Pmhø©¨ø£ ÂÁ›. 

20. Discuss the Characteristics and special problem faced by 
public utilities.  

 ö£õx £¯ß£õkPÒ GvºöPõÒÐ® £s¦PÒ ©ØÖ® ]Ó¨¦ 
]UPÀPøÍ ÂÁõvUPÄ®. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2022 

Second Semester 

Commerce 

ADVANCED ACCOUNTANCY – II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define bill of Exchange.  

 ©õØÖa^mk Áøμ¯Ö. 

2. What is promissory notes?  

 EÖvö©õÈ £iÁ® GßÓõÀ GßÚ? 

3. What do you mean by floating policy?  

 ªuUS® öPõÒøP £ØÔ } GßÚ AÔÁõ´? 

4. Write short note on average clause.  

 \μõ\› ¤›Ä £ØÔ ]Ö SÔ¨¦ GÊxP. 

5. What is cost price?  

 AhUP Âø» GßÓõÀ GßÚ? 

6. State the meaning of Invoice price.  

 Âø»¨£mi¯À Âø» ö£õ¸Ò TÖP. 

Sub. Code 
7BCO2C1 
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7. What is Joint venture?  

 CønÂøÚ GßÓõÀ GßÚ? 

8. What are the methods of joint venture accounts?  

 CønÂøÚ PnUQß •øÓPÒ GßöÚßÚ? 

9. Define bills payable.  

 ö\¾zxuØS›¯ ©õØÖa^mk Áøμ¯Ö. 

10. What is capital?  

 ‰»uÚ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) What are the parties involved in the Bill of 
Exchange?  

  ©õØÖa^miÀ EÒÍ \®£¢u¨£mh |£ºPÒ ¯õº? 

Or 

 (b) List out the features of promissory note. 

  EÖvö©õÈ £iÁzvß ]Ó¨¤¯À¦PøÍ £mi¯¼kP. 

12. (a) A fire occurred at the premises of a AB trader on 
31.5.2017 destroying a great part of his goods. His 
stock at 1.1.2017 was Rs.60,000. The value of stock 
salvaged was Rs.13,500. The gross profit on sales 
was 30% and sales amounted to Rs.1,53,000 from 
January to date of fire. Purchase amounted to 
Rs.1,03,500 from January to date of fire.  

  Calculate the claim to be lodged. 
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  ÷© 31, 2017 AßÖ AB {ÖÁÚzvß w Â£zx 

{PÌ¢ux. ö£¸®£õ»õÚ ö£õ¸mPÒ w°ÚõÀ 

|õ\©õQÚ 1.1.2017 UPõÚ \μUQ¸¨¦ ¹. 60,000 

\μUS «m] ©v¨¦ ¹. 13,500 ÂØ£øÚ «uõÚ ö©õzu 

C»õ£ ÂQu® 30% ÷©¾® ÂØ£øÚ öuõøP áÚÁ› 

•uÀ w Â£zx |õÒ Áøμ ¹.1,53,000.  öPõÒ•uÀ 

öuõøP áÚÁ› •uÀ w Â£zx Áøμ ¹. 1,03,500 

BS®. 

Põ¨¥mk {ÖÁÚzvhª¸¢x ö£Ó ÷Ási¯ 

÷Pm¦›ø©ø¯ PnUQkP. 

Or 

 (b) List out the terms used in loss of profit.  

  »õ£ CÇ¨¤À £¯ß£kzu¨£k® Âv•øÓPøÍ 

£mi¯¼kP. 

13. (a) Arun consigned 2,000 tonnes of coal at  

Rs.50 per tonne to Balu. He paid Rs.20,000 for 

freight. Due to normal loss only 1,950 tonnes were 

received by Balu. He also paid Rs.5,000 for 

unloading charges. The goods unsold amounts to 

650 tonnes. You are required to calculate the value 

of closing stock. 
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  A¸s Gß£Áº 2000 hß {»UP›ø¯ J¸ hß ¹.50 
Ãu® £õ¾ Gß£Á¸US AÝ¨¥k ö\´uõº. ¤ÓS 
A¸s T¼UPõP ¹. 20,000–øu ö\»Ä ö\´uõº. 
\õuõμn |mh® ÷£õP 1950 hß {»UP›ø¯ ©mk® 
£õ¾ ö£ØÖU öPõshõº. ¤ÓS £õ¾ ¹. 5,000 –øu 
HØÖU T¼UPõP ö\»Ä ö\´uõº. ÂØPõu \μUQß 
©v¨¦ 650 hßPÒ. C¢u `Ì{ø»°À ÂØPõu 
\μUQß ©v¨ø£ PnUQkP. 

Or 

 (b) What are the differences between consignment and 
joint venture?  

  AÝ¨¥miØS® CønÂøÚUS® EÒÍ ÷ÁÖ£õkPÒ 
¯õøÁ? 

14. (a) Discuss the advantages of joint venture.  

  CønÂøÚ°ß |ßø©PøÍ ÂÁõv. 

Or 

 (b) X and Y enter into joint venture to ship goods 
abroad at July 2018. X sends goods to the value of 
15,000 pays freight $ 1,500 and sundry expenses  
$ 575. Y sends goods valued at $ 10,750, pays 
freight and insurance $ 1,200 and sundry expenses 
$ 750. Y advances to X $ 6,000 on account of joint 
venture X receives account sales and remittance of 
net proceeds for the whole of amounting  $ 37,500.  

  Show how transactions would appear in the book of 

X and Y respectively. Assuming final settlement is 

made between them. 
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  X ©ØÖ® Y CønÂøÚ°À Dk£mk ö£õ¸mPøÍ 

áüø» 2018 öÁÎ|õmiØS AÝ¨¤Úº. X AÝ¨¤¯ 

ö£õ¸mPÎß Âø» $ 15,000, \μUS Pmi¯x $ 1,500 

©ØÖ® £»uμ¨£mh ö\»ÄPÒ  

$ 575. Y AÝ¨¤¯ ö£õ¸mPÎß Âø» $ 10,750, 

Põ¨¥k ©ØÖ® \μUS Á› ö\¾zv¯x $ 1,200 ©ØÖ® 

£»uμ¨£mh ö\»ÄPÒ $ 750. Y •ß£n©õP X US 

 $ 6,000 CønÂøÚUS AÎzuõº. X ö£ØÓ 

ÂØ£øÚ ©ØÖ® {Pμ £n® $ 37,500. 

  CÖv PnUS •i¨¦ C¸Áμx PnUQ¾® PõmkP. 

15.  (a) Explain the methods of single entry system.  

  JØøÓ¨ £vÄ •øÓ°ß •øÓPøÍ ÂÁ›. 

Or 

 (b) X keeps his records under single entry system. His 

assets and liabilities stood as follows:  

 31.12.2015

Rs. 

31.12.2016

Rs. 

Cash 10 2,000

Bank Balance  990 10,000

Stock 7,000 10,000

Debtors  15,000 20,000

Furniture  3,000 3,000

Creditors  3,000 3,000
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  He introduced an additional capital of Rs. 3,000 

during 2016 and he withdrew Rs. 7,000 for his 

personal use. Find out profit or loss.  

  X JØøÓ £vÄ •øÓ°À uß HkPøÍ £μõ©›UQÓõº. 

AÁ¸øh¯ ö\õzx ©ØÖ® ö£õÖ¨¦PÒ RÌPshÁõÖ 

EÒÍÚ. 

 31.12.2015

¹. 

31.12.2016

¹. 

öμõUP® 10 2,000

Á[Q¸¨¦ 990 10,000

\μUQ¸¨¦ 7,000 10,000

PhÚõÎPÒ 15,000 20,000

AøÓP»ß 3,000 3,000

PhÜ¢÷uõº 3,000 3,000

  2016–À ¦Szv¯ TkuÀ ‰»uÚ® ¹. 3,000 Ãmkz 

÷uøÁUPõP GkUP¨£mh öuõøP ¹.7,000 C»õ£® 

(A) |mhzøuU PnUQkP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. On 1.10.09 Sudha accepted a bill for Rs. 8,000 payable 

after 3 months, drawn by Rekha. On 2.11.09, Sudha 

makes the payment of the bill, receiving a rebate  

@ 12% p.a. 

Give entries in the books of both parties.  
 1.10.09 AßÖ _uõ ¹. 8,000 ©v¨¦ÒÍ ‰ßÖ ©õu ©õØÖa 

^mk ÷μPõÁõÀ GÊu¨£mhøu HØÖU öPõshõº. 2.11.09 

AßÖ _uõ öuõøPø¯ ö\¾zx 12% p.a. GÚ uÒÐ£i 
ö\´uõº. 

C¸Áº HkPÎ¾® SÔ¨÷£mk £vÄPÒ u¸P. 

17. A merchants godown caught fire on November 3,2018 at 
night causing serious damage to stock. The following 
information is obtained from the books and records 
salvaged.  

 Rs. 

Stock on 31.12.2016 45,000 

Stock on 31.12.2017 50,000 

Purchases during 2017 4,75,000 

Sales from Jan 1 to Nov. 3,2018 4,00,000 

Purchases from Jan 1 to Nov. 3, 2018 4,40,000 

Sales during 2017 5,87,500 

 Assuming that the rate of gross profit on sales has been 
the same in 2018 as in 2017, estimate the value of the 
stock in the godown at the time of fire. 
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 J¸ Â¯õ£õ›°ß Qh[S 3.11.2018 CμÂÀ HØ£mh w 
Â£zvÚõÀ \μUSPÒ AvP® ÷\u® HØ£mhx. RÌPsh 
uPÁÀPÒ w°¼¸¢x Põ¨£ØÓ¨£mh HkPÒ ‰»•® 
£vÄPÒ ‰»•® QøhUP¨ ö£ØÓx. 

 ¹. 

\μUS 31.12.2016 45,000 

\μUS 31.12.2017 50,000 

öPõÒ•uÀ  2017 BsiÀ  4,75,000 

ÂØ£øÚ áÚÁ› 1, •uÀ |Á®£º 3, 2018 Áøμ 4,00,000 

öPõÒ•uÀ áÚÁ› 1, •uÀ |Á®£º 3, 2018 Áøμ 4,40,000 

ÂØ£øÚ 2017 À 5,87,500 

 ÂØ£øÚ°À ö©õzu »õ£ ÂQu® 2017 À BsiøÚ¨ 
÷£õ»÷Á 2018 ØS® GÚU öPõsk w Â£zvß ÷£õxÒÍ 
\μUQøÚ ©v¨¤kP. 

18. South India Company of Madras, consigned 100 Radio's 
to National Company of Gujarat. The cost of each taps 
Radio was Rs. 500. The consignors paid insurance  
Rs. 500. freight Rs. 800. Account sales received from 
National Company showing gross Sales proceeds of 80 
Radios at Rs. 600 each. The expenses paid and deducted 
by them were, carriage Rs. 20, establishment expenses 
Rs. 130, commission Rs. 2,400. 

Show journal entries and ledger accounts in the books of 

south Indian company.  

 ö©mμõì QÇUQ¢v¯ {ÖÁÚ® 100 ÁõöÚõ¼ ö£miPøÍ 

Sáμõzv¾ÒÍ ÷|åÚÀ {ÖÁÚzvØS AÝ¨¥k 

ö\´xÒÍx. JÆöÁõ¸ ÁõöÚõ¼ ö£mi°ß AhUP®  

¹. 500. AÝ¨¦|º Põ¨¥k ö\¾zv¯x ¹. 500, T¼  

¹. 800. ÷|åÚÀ P®ö£Û°À Põs¨¤UP¨£mh ö©õzu 
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ÂØ£øÚ |hÁiUøP°À 80 ÁõöÚõ¼ ö£miPÒ ¹. 600 

Ãu® ÂØP¨£mhx. ö\¾zv¯ ©ØÖ® PÈUP¨£mh 

ö\»ÄPÒ. yUS T¼ ¹. 20, Â›ÁõUPa ö\»ÄPÒ ¹.130, 

PÈÄ ¹. 2,400. QÇUQ¢v¯ {ÖÁÚzvØPõÚ HkPÎÀ 

SÔ¨÷£k ©ØÖ® ÷£÷μmkPøÍ Põs¤. 

19. Distinguish between joint venture and sale.  

 CønÂøÚ ©ØÖ® ÂØ£øÚ ÷ÁÖ£kzxP. 

20. From the following data, determine bills receivable 

received from debtors and bills payable paid on maturity 

during the period 

 Rs. 

Opening balance :  B/R 30,000

 B/P 15,000

Closing balance : B/R 45,000

 B/P 20,000

B/R dishonoured 2,500

B/R en cashed 70,000

B/R discounted (discount Rs. 250) 5,000

B/P issued 65,000

 ¤ßÁ¸® uPÁÀPÒ, ö£ÖuØS›¯ ©õØÖa^mk 

PhÚõÎ°h® ö£Ó¨£mhx ©ØÖ® ö\¾zxuØS›¯ 

©õØÖa^mk ö\¾zu¨£k® •vºa]U Põ»® BQ¯øÁPøÍ 

wº©õÛUP.  

 ¹. 

öuõhUP C¸¨¦ :  B/R 30,000

 B/P 15,000
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 ¹. 

CÖv C¸¨¦ : B/R 45,000

 B/P 20,000
ö£¸uØS›¯ ©õØÖa^mk AÁ©vUP¨£mhx 2,500
ö£¸uØS›¯ ©õØÖa^mk CønUP¨£mhx 70,000
ö£¸uØS›¯ ©õØÖa^mk uÒÐ£i ö\´¯¨£mhx 
(uÒÐ£i 250) 

5,000

ö£¸uØS›¯ ©õØÖa^mk ÁÇ[P¨£mhx 65,000
  

———————— 
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MARKETING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What do you know about marketing? 

 \¢øu°kuÀ £ØÔ }Âº AÔÁx GßÚ? 

2. What is market segmentation?  

 \¢øu ÁøP¨£kzxuÀ GßÓõÀ GßÚ? 

3. What is meant by product policy? 

 EØ£zv öPõÒøP°ß ö£õ¸Ò GßÚ? 

4. Write a short note on new product development.  

 ¦v¯ ö£õ¸Ò ÷©®£õk £ØÔ ]Ö SÔ¨¦ GÊxP.  

5. What is standardisation?  

 uμ {ø»¨£kzxuÀ GßÓõÀ GßÚ? 

6. What is meant by ware housing?  

 ÷\ª¨¦ Qh[S Gß£uß ö£õ¸Ò GßÚ? 

Sub. Code 
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7. What do you know about Dual pricing? 

 C¸ Âø»U öPõÒøP £ØÔ }Âº AÔÁx GßÚ? 

8. What is pricing strategy?  

 Âø» Ezv GßÓõÀ GßÚ? 

9. What is meant by sales promotion? 

 ÂØ£øÚ ÷©®£õmiß ö£õ¸Ò GßÚ? 

10. Write any two media of advertisement.  

 ÂÍ®£μzvß HuõÁx C¸ FhP[PøÍ¨ £ØÔ GÊxP.  

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Explain in detail the evolution of the marketing 
concept.  

  \¢øu°kuÀ ußø©°ß £›nõ©zvøÚ Â›ÁõP 

ÂÍUSP. 

Or 

 (b) Explain the criteria for market segmentation.  

  \¢øu°kuÀ ÁøP¨£kzu¼ß AÍÄ ÷PõÀPøÍ 

ÂÍUSP. 

12. (a) Explain the advantages of Brand name.  

  SÔ±mk¨ ö£¯›ß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) What are the functions of packages?  

  ÷£U÷Pâ[ß £oPÒ ¯õøÁ? 



F–7957 

  

  3

13. (a) Explain the important sources of marketing finance.  

  \¢øu°kuÀ {vUS •UQ¯©õÚ {v Buõμ[PøÍ 
ÂÍUSP. 

Or 

 (b) What are the different types of marketing risks?  

  \¢øu°ku¼À £À÷ÁÖ ÁøP¯õÚ Chº£õkPÒ 
¯õøÁ? 

14. (a) Explain the various objectives of pricing.  

  Âø»U öPõÒøP°ß £À÷ÁÖ ÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) List out the various stages of price determination 
process.  

  Âø» wº©õÛzuÀ ö\¯À•øÓ°ß £À÷ÁÖ 
£i{ø»PøÍ £mi¯¼kP.  

15.  (a) What are the qualities of a successful salesman? 

  öÁØÔPμ©õÚ ÂØ£øÚ¯õÍ›ß Sn |»ßPÒ ¯õøÁ? 

Or 

 (b) Discuss the objectives of sales promotion.  

  ÂØ£øÚ ÷©®£kzu¼ß ÷|õUP[PøÍ ÂÁ›UP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. State the factors affecting marketing mix.  

 \¢øu°kuÀ P»øÁø¯ £õvUPUTi¯ PõμoPøÍ ÂÍUSP. 

17. Explain the classification of consumer goods.  

 ~Pº÷Áõº ö£õ¸mPÎß ÁøPPøÍ ÂÍUSP. 
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18. Briefly explain the functions of marketing.  

 \¢øu°ku¼ß £oPøÍ _¸UP©õP ÂÍUSP. 

19. Enumerate the various pricing strategies.  

 Âø»U öPõÒøP°ß £À÷ÁÖ EzvPøÍ ÂÁ›UP.  

20. List out and Explain the classification of advertising 
media.  

 ÂÍ®£μ FhP[PÎß ÁøPPøÍ £mi¯¼mk ÂÍUSP. 

———————— 
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Third Semester 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Insurance? 

 Põ¨¥k GßÓõÀ GßÚ? 

2. Define the term of Risk. 

 Chº Põ»zøu Áøμ¯Ö. 

3. What is Life Insurance? 

 B²Ò Põ¨¥k GßÓõÀ GßÚ? 

4. Define Investment of Fund. 

 {v •u½møh Áøμ¯ÖP. 

5. Who is agent? 

 •PÁº Gß£Áº ¯õº? 

6. What do you mean by Medical Examination? 

©¸zxÁ £›÷\õuøÚ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is commencement of Risk? 

 Chº öuõhUP® GßÓõÀ GßÚ? 

8. What is policy conditions? 

 öPõÒøP {£¢uøÚPÒ GßÓõÀ GßÚ? 

9. Define Marine Insurance. 

 PhÀ Põ¨¥møh Áøμ¯ÖUPÄ®. 

10. What is Payment of claim? 

 E›ø©÷PõÀ ö\¾zxuÀ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the methods of Treating risk? 

  Chøμ \›ö\´²® •øÓPÒ ¯õøÁ? 

Or 

 (b) Explain the classification of origin of Insurance. 

  Põ¨¥mk ÷uõØÓzvß ÁøPPøÍ ÂÁ›. 

12. (a) What are the principles of Life Insurance? 

  B²Ò Põ¨¥miß öPõÒøPPÒ ¯õøÁ? 

Or 

 (b) Explain the importance of Economic theory of 
Insurance. 

  Põ¨¥miß ö£õ¸Î¯À ÷Põm£õmiß 
•UQ¯zxÁzøu ÂÁ›. 
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13. (a) What are the features of Report? 

  AÔUøP°ß A®\[PÒ ¯õøÁ? 

Or 

 (b) Write a short notes of Medical Examination. 

  ©¸zxÁ £›÷\õuøÚ ]Ö SÔ¨¦ ÁøμP. 

14. (a) What are the importance on Policy condition? 

  öPõÒøP {£¢uøÚ°ß •UQ¯zxÁ® ¯õøÁ? 

Or 

 (b) Explain the characteristic of commencement of 
Risk. 

  Chº öuõh[S® ußø©ø¯ ÂÍUSP. 

15. (a) Give the importance of Marine Policies. 

  PhÀ öPõÒøP°ß •UQ¯zxÁzøu öPõk[PÒ. 

Or 

 (b) Explain the payment of claim in Marine Insurance. 

  PhÀ Põ¨¥miÀ E›ø©÷Põμø» ö\¾zxÁøu 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the functions of Insurance. 

 Põ¨¥miß £oPøÍ ÂÁ›UPÄ®. 

17. Describe the various types of Annuity theory of 
Insurance. 

 Põ¨¥miß £À÷ÁÖ ÁøP¯õÚ Á¸hõ¢vμ ÷Põm£õmøh 
ÂÁ›UPÄ®. 
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18. What are the types of Reports? 

 AÔUøP°ß ÁøPPÒ ¯õøÁ? 

19. Explain the Revival of policies conditions. 

 öPõÒøP {ø»ø©PÎß ©Ö©»ºa]ø¯ ÂÍUSP. 

20. What are the different types of Marine Policies?  

 £À÷ÁÖ ÁøP¯õÚ PhÀ öPõÒøPPÒ ¯õøÁ? 

 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Bank? 

 Á[Q GßÓõÀ GßÚ? 

2. Define Unit Banking. 

 A»S Á[Q°øÚ Áøμ¯Ö. 

3. What is commercial bank? 

 ÁoP Á[Q GßÓõÀ GßÚ? 

4. What is meant by primary function? 

 •ußø© £oPÒ GßÓõÀ GßÚ? 

5. What is Liquidity? 

 }º©øÓ {øÓ GßÓõÀ GßÚ? 

6. Any two point about limitation. 

 Áμ®¦ £ØÔ¯ Cμsk P¸zxUPøÍ TÓÄ®. 

Sub. Code 
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7. What is SBI? 

 SBI GßÓõÀ GßÚ? 

8. What is meant by small scale industries? 

 ]Ô¯ AÍÂ»õÚ öuõÈØ\õø» GßÓõÀ GßÚ? 

9. Definition of E-banking. 

 ªß Á[Q°øÚ Áøμ¯Ö. 

10. What is Privatisation bank? 

 Á[QPÎß uÛ¯õº©¯©õUPÀ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) What are demerits of Branch Banking? 

  QøÍ Á[Q°ß SøÓ£õkPÒ ¯õøÁ? 

Or 

 (b) Differentiate the cheque from draft. 

  Põ÷\õø»ø¯ ÁøμÂ¼¸¢x ÷ÁÖ£kzxP. 

12. (a) What are the various general utility services 
rendered by a bank? 

  J¸ Á[Q¯õÀ ÁÇ[P¨£k® £À÷ÁÖ ö£õx 
£¯ß£õmk ÷\øÁPÒ ¯õøÁ? 

Or 

 (b) Explain about Merchant banking. 

  ÁoP Á[Q £ØÔ ÂÁ›. 
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13. (a) State the defects of the process of credit creation. 

  Phß E¸ÁõUS® ö\¯À•øÓ°ß SøÓ£õkPøÍU 

TÖ[PÒ. 

Or 

 (b) Write a short note on profitability investment policy 

of banks. 

  Á[QPÎß C»õ£ •u½mkU öPõÒøP SÔzx ]Ö 

SÔ¨¦ GÊxP. 

14. (a) Explain the small scale industries. 

  ]Ô¯ AÍÂ»õÚ öuõÈØPÒ £ØÔ ÂÁ›. 

Or 

 (b) Discuss about SBI and Agricultural finance. 

  SBI ©ØÖ® ÂÁ\õ¯ {v £ØÔ ÂÁõvUPÄ®. 

15.  (a) Explain the recent developments in Banking. 

  \«£zvß Á[Q°¯À ÁÍºa]ø¯ ÂÍUSP. 

Or 

 (b) Discuss the various activities under e-banking. 

  ªß Á[Q°ß £À÷ÁÖ |hÁiUøPPÒ £ØÔ ÂÁõv. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Difference between the unit banking and branch banking. 
 A»S Á[Q ©ØÖ® QøÍ Á[Q Cøh÷¯ EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

17. Briefly explain the various types of merchant banking. 

 £À÷ÁÖ ÁøP¯õÚ ÁoP Á[QPøÍ _¸UP©õP ÂÍUSP. 

18. What are the limitation of credit creation? 

 Phß E¸ÁõUPzvß Áμ®¦PÒ ¯õøÁ? 

19. Explain the functions of SBI. 

 SBIß £oPøÍ ÂÁ›. 

20. Discuss the power and duties of the banking ombudsman. 

 Á[Q J®¦hì©Ûß AvPõμ[PÒ ©ØÖ® Phø©PÒ £ØÔ 
ÂÁõv. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is  classification? 

 ÁøP¨£kzxuÀ GßÓõÀ GßÚ? 

2. What is Tabulation? 

 AmhÁøn¨£kzxuÀ GßÓõÀ GßÚ? 

3. Define Arithmetic mean. 

 Tmka\μõ\› – Áøμ¯Ö. 

4. What is meant by mode? 

 •Pk GßÓõÀ GßÚ? 

5. What is correction coefficient?  

 JmkÓÄU öPÊ GßÓõÀ GßÚ? 

6. Write a short notes on ‘Regression analysis’. 

 ©õÔPÎß öuõhº¦ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Sub. Code 
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7. What is cost of Living index?  

 Âø»Áõ] SÔ±mk Gs GßÓõÀ GßÚ? 

8. What is index number? 

 SÔ±mk Gs GßÓõÀ GßÚ? 

9. What is a time series? 

 ÷|μ öuõhº¦ GßÓõÀ GßÚ? 

10. What is sampling?  

 ©õv› GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the limitation of Statistics?  

  ¦ÒÎ¯¼ß SøÓ£õkPÒ ¯õøÁ? 

Or 

 (b) What are the types of tabulation?  

  AmhÁøn¨£kzxu¼ß ÁøPPÒ ¯õøÁ? 

12. (a) Calculate standard deviation from the following 
data : 

39, 46, 52, 75, 82, 93, 97 

  öPõkUP¨£mh uPÁÀPÎ¼¸¢x vmh Â»UPzøu 
PõsP. 

39, 46, 52, 75, 82, 93, 97 

Or 

 (b) Calculate quartile deviation and co-efficient of 
quartile deviation from the following  data : 

Marks : 15 25 35 45 55 65 75 

No.of students : 3 2 7 9 12 6 3 
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  RÌPõq® uPÁÀPÎ¼¸¢x PõÀ©õÚ Â»UPzøu²® 

PõÀ©õÚ öPÊøÁ²® PõsP. 

©v¨ö£s : 15 25 35 45 55 65 75 

©õnÁºPÎß 

GsoUøP : 

3 2 7 9 12 6 3 

13. (a) Find out the correlation co-efficient from the 

following data : 

x : 5 10 15 20 25 30 35 40 45 

y : 8 15 32 30 7 6 5 20 3 

  R÷Ç öPõkUP¨£mh ÂÁμ[PÐUS JmkÓÄU 

öPÊøÁU PõsP. 

x : 5 10 15 20 25 30 35 40 45 

y : 8 15 32 30 7 6 5 20 3 

Or 

 (b) Calculate the two regression equations from the 

following  data : 

x : 10 12 13 12 16 15 

y : 40 38 43 45 37 43 

  RÌPsh Â£μ[PÐUS C¸ öuõhº¦a \©ß£õkPÒ 

PnUQkP. 

x : 10 12 13 12 16 15 

y : 40 38 43 45 37 43 
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14. (a) Calculate the Real wages index number based on 

the following information : 

Year : 2006 2007 2008 2009 

Wages (Rs.) : 700 900 1,100 1,200

Cost of living index : 100 120 150 175

Year : 2010 2011 2012 2013

Wages (Rs.) : 1,400 1,600 1,800 1,900

Cost of living index : 195 200 210 220

  RÌPõq® ÂÁμ[P¼¸¢x Esø©¯õÚ T¼ 
SÔ±möhsøn PnUQkP. 

Á¸h® : 2006 2007 2008 2009 

T¼ (¹.) : 700 900 1,100 1,200

ÁõÌUøP ö\»Ä SÔ±mk Gs : 100 120 150 175

Á¸h® : 2010 2011 2012 2013

T¼ (¹.) : 1,400 1,600 1,800 1,900

ÁõÌUøP ö\»Ä SÔ±mk Gs : 195 200 210 220

Or 

 (b) Construct Fisher’s ideal index number from the 
following data : 

 2011 2012 

Commodities Price  Quantity Price Quantity 

A 4 6 2 8 

B 6 5 5 10 

C 5 10 4 14 

D 2 13 2 19 
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  RÌPsh ÂÁμ[PÐUS ¤å›ß ÂÊª¯ 
SÔ±möhs PõsP. 

 2011 2012 

ö£õ¸mPÒ Âø» AÍÄ Âø» AÍÄ 

A 4 6 2 8 

B 6 5 5 10 

C 5 10 4 14 

D 2 13 2 19 

15. (a) Calculate trend value from the following data using 
the method of least square. 

Year : 2002 2003 2004 2005 

Production : 110 115 130 140 

Year : 2006 2007 2008  

Production : 145 160 180  

  «a]Ö ÁºP •øÓø¯ öPõsk ÷£õUS ©v¨¤øÚU 
PnUQhÄ®. 

Á¸h® : 2002 2003 2004 2005 

EØ£zv : 110 115 130 140 

Á¸h® : 2006 2007 2008  

EØ£zv : 145 160 180  

Or 

 (b) Explain the components of time series. 

   Põ»z öuõhº Á›ø\°ß £õP[PøÍ ÂÍUSP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain about the different sources of Collecting 
Secondary Data.  

Cμshõ® {ø» ÂÁμ[PøÍ ÷\P›US® •øÓPøÍ £ØÔ 
ÂÁ›. 

17. Calculate mean, median, mode for the following  data : 
X : 1 – 10 11 – 20 21 – 30 31 – 40 41 – 50 

F : 3 7 13 17 12 

X : 51 – 60 61 – 70 71 – 80 81 – 90 91 – 100

F : 10 8 8 6 6 

 R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÐUS Tmka \μõ\›, 

Cøh{ø» ©ØÖ® •Pk PõsP. 

X : 1 – 10 11 – 20 21 – 30 31 – 40 41 – 50 

F : 3 7 13 17 12 

X : 51 – 60 61 – 70 71 – 80 81 – 90 91 – 100

F : 10 8 8 6 6 

18. Calculate Rank Correlation co-efficient from the following 

data : 

Subject I : 37 52 75 11 69 78 90 40 32 50 

Subject II : 69 48 80 15 49 70 95 16 21 25 

 RÌPsh uPÁÀPÎ¼¸¢x uμ JmkÓÄU öPÊøÁ PõsP. 

£õh® I : 37 52 75 11 69 78 90 40 32 50 

£õh®II : 69 48 80 15 49 70 95 16 21 25 
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19. Construct price index numbers by Fisher’s method, 

Laspeyre’s method, Bowley –  Darbish method and 

Paasche’s method. 

 2012 2013 

Commodity Price  Quantity Price Quantity

A 5 15 7 12 

B 4 5 6 4 

C 7 4 9 3 

D 52 2 55 2 

 ¤è\ºì, »õì¤¯ºì, ö£Í¼ – hõº¤è ©ØÖ® ÷£a^êß 

SÔ±mk GsPøÍU PõsP. 

 2012 2013 

ö£õ¸ÒPÒ Âø» AÍÄ Âø» AÍÄ 

A 5 15 7 12 

B 4 5 6 4 

C 7 4 9 3 

D 52 2 55 2 

20. Following are the data related with the sales of a factory. 

Calculate trend values through the method at least 

square. 

Years : 2000 2001 2002 2003 

Sales : (in units) 47 64 77 88 

Years : 2004 2005 2006  

Sales : (in units) 97 109 113  
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 RÌPõq® Â£μ[PøÍ öPõsk ÂØ£øÚ GÆÁõÖ 
öuõÈØ\õø»US öuõhº¦øh¯uõS® GÚ «a]Ö ÁºUP 
•øÓø¯ öPõsk ÷£õUS ©v¨¤øÚ PnUQhÄ®. 

Á¸h® : 2000 2001 2002 2003 

ÂØ£øÚ : (A»SPÒ) 47 64 77 88 

Á¸h® : 2004 2005 2006  

ÂØ£øÚ : (A»SPÒ) 97 109 113  

_______________ 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2022 

Third Semester 

Commerce 

ADVANCED ACCOUNTANCY – III 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is mean by partnership deed? 

 Tmhõsø© J¨£õÁÚ® GßÓõÀ GßÚ? 

2. What is fixed capital? 

 {ø»•uÀ GßÓõÀ GßÚ? 

3. What is Revaluation Account? 

 ©v¨¥k PnUS GßÓõÀ GßÚ? 

4. Define the term Goodwill. 

 |Øö£¯º Áøμ¯Ö. 

5. Who is retiring partner? 

 TmhõÎ K´Ä ö£Ö£Áº ¯õº? 

6. What is Realisation Account? 

 wºÄU PnUSPÒ GßÓõÀ GßÚ? 

Sub. Code 
7BCO3C4 
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7. What is Dissolution of partnership firm? 

 TmhõÎ°ß ö|õi¨¦ {ø» GßÓõÀ GßÚ? 

8. What is mean by unrecorded assets? 

 £vÄ ö\´¯¨£hõu ö\õzxPÎß ö£õ¸Ò GßÚ? 

9. What is purchase consideration? 

 öPõÒ•uÀ ©Ö£n® GßÓõÀ GßÚ? 

10. What is proportionate capital method? 

 ÂQuõa\õμ ‰»uÚ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Critique the rights of a partner. 

  TmhõÎ°ß E›ø©PøÍ öuÎÄ¨£kzuÄ®. 

Or 

 (b) A, B and C are partners sharing profits and losses 
in the ratio of 2 : 3 : 5. A retires and D is admitted 
in his place. The new profit sharing ratio between 
B, C and D is 2 : 3 : 1 from the following prepare 
capital accounts of partners. 

Capital –  A Rs. 10,000; 

  B Rs. 15,000; 

  C Rs. 20,000; 

Profit on revaluation Rs. 10,000 

General reserve Rs. 40,000; Goodwill is raised at  
Rs. 30,000 and written off at D’s admission. 
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  A, B ©ØÖ® C GßÓ TmhõÎPÒ 2 : 3 : 5 GßÓ ÂQuzvÀ 

C»õ£ |mh[PøÍ¨ £QºQßÓÚº. A K´Ä ö£ÖÁuõÀ 

AÁμx ChzvÀ D AÝ©vUP¨£kQÓõº. B, C ©ØÖ®  

D °ß ¦v¯ C»õ£ ÂQu® 2 : 3 : 1 RÌUPõq® 

ÂÁμ[PÎ¼¸¢x TmhõÎPÎß •uÀ PnUøP 

u¯õ›UPÄ®.  

•uÀ –  A ¹. 10,000; 

  B ¹. 15,000; 

  C ¹. 20,000; 

  ©Ö©w¨¥miß «uõÚ C»õ£® ¹.10,000 ö£õxUPõ¨¦ 

¹.40,000 |Øö£¯º ¹.30,000 BP ÷uõØÖÂUP¨£mk 

D&°ß ÷\º¨¤ØS ¤Óx }UP¨£mhx 

12. (a) Describe the procedure for admission of a partner. 

  Kº TmhõÎø¯ ÷\º£uØPõÚ ÁÈ•øÓPøÍ _¸UP©õP 

ÂÁ›. 

Or 

 (b) Kannan and Radha share profits and losses in the 
ratio of 7 : 3 they admit Chandran as a new partner. 
Kannan surrendered 1/7 of his share and Radha 
surrendered 1/3 of his share to Chandran. Find out 
new ratio and sacrificing ratio.  

  PsnÝ® 7 : 3 GßÓ ÂQuzvÀ »õ£zøu £Qº¢x 

öPõÒQßÓõÚº. \¢vμøÚ ¦v¯ TmhõÎ¯õP 

÷\ºUQßÓÚº. Psnß uß £[Q¼¸¢x 1/7 £õP•® 

μõuõ uß £[Q¼¸¢x 1/3 £õP•® \¢vμÝUS 

AÎUQßÓÚº. ¦v¯ ÂQuzøu²®; v¯õP ÂQzøu²® 

Psk¤i. 
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13. (a) State the deductions that may have to be made from 
the amount payable to the legal representative of a 
decreased partner. 

  CÓ¢u TmhõÎ \mh ¤μv{vUS ö\¾zu ÷Ási¯ 

öuõøPUPõÚ Â»UPÎ¨¦PøÍ TÖP. 

Or 

 (b) M, N, O, P and Q are were partners, in a firm 
sharing profits and losses in the ratio 5: 4: 3: 2: 1 
respectively. Unfortunately P and Q met with an 
accident in which both of them died. 

The goodwill of the firm was valued at Rs. 75,000 
and M, N and O decided to share the future profit 
and losses in the ratio of 4 : 6 : 5 respectively. Pass 
journal entries. 

  M, N, O, P ©ØÖ® Q TmhõÎPÒ •øÓ÷¯ 5: 4: 3: 2: 1 

GßÓ ÂQuzvÀ C»õ£® £Qº¢x Á¢uÚº. Gvº£õμõu 

Âu©õP P ©ØÖ® Q J¸ Â£zvÀ ©μn©øh¢uõº. 

  Tmhõßø©°ß |ß©v¨¦ ¹.75,000 GÚ 

©v¨¤h£kQÓx, ÷©¾® ‘M’ ‘N’ ©ØÖ® O •øÓ÷¯  

4 : 6 : 5 GßÓ ÂQuzvÀ GvºPõ» C»õ£ |mhzøu £Qμ 

•iöÁkzuÚº. SÔ¨÷£mk¨ £vÄPøÍ u¸P. 

14. (a) A and B are partners sharing profits and losses in 
the ratio of 5 : 3 they took out of joint life policy of 
Rs. 50,000 on 1.1.2005 for 20 years paying an 
annual premium of Rs. 2,000. The surrrender value 
were 2005 Nil, 2006 Rs. 500; 2007 Rs. 1,200; 2008 – 
Rs. 2,050 2005 B died 1.4.2008 are the claim was 
received on May 25th. Show the relevant account 
under the following method.  

  Note : surrender value treated as an asset and full 
premium changed to profit. 
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  A ©ØÖ® B GßÓ C¸ TmhõÎPÒ C»õ£ |mh[PøÍ 

 5 : 3 GßÓ ÂQuzvÀ £Qº¢uÚº. AÁºPÒ 20 Bsk 

Tmk B²Ò vmhõÁnzøu ¹.50,000 ©v¨¦US 

BsiØS ¹.2,000 •øÚ© öuõøP¯õP ö\¾zu 

÷Ási¯ {£¢uøÚ°À Áõ[QÚõº. A¢u Tmk B²Ò 

vmhÁnzvÀ Âk©v¨¦ ¤ßÁ¸©õÖ 2005 

GxÄªÀø»; 2006 ¹.500; 2007&¹.1,200; 2008 & 

¹.2,050; 2005 Bsk H¨μÀ & 1, 2008 AßÖ B CÓ¢x 

ÂkQßÓõº CuØPõÚ ÷PõμÀ öuõøP ÷© ©õu® 25 

|õÍßÖ ö£Ó¨£mhx R÷Ç SÔ¨¤mh •øÓ°øÚ 

¤ß£ØÔ ÷uøÁ¯õÚ PnUSPøÍ PõmkP. 

  J¨£øhÄ ©v¨¦ ö\õzuõP P¸u¨£mk •Ê •øÚ© 

öuõøP²® C»õ£zvÍ¸¢x ö\¾zx® •øÓ°À 

u¯õ›UPÄ®. 

Or 

 (b) Explain the rule of Garner Vs Murray. 

  Pºnº öÁì •÷μ ÂvPøÍ ÂÁ›. 

15.  (a) X, Y, Z share profit in the ratio of 4 : 3 : 2 they have 
decided to shell their firm to a limited company on 
June 30th, 2019, their balance sheet on that date. 
Liabilities Rs. Assets Rs. 

Creditors 15,000 Machinery 20,000

Capital  Debtors 15,000

X 10,000 Stock 12,000

Y 25,000 Cash 8,000

Z 5,000  

 55,000  55,000

  Purchase consideration agreed upon was Rs. 50,000 
of this the company has paid Rs. 32,000 in its own 
shares and the balance in cash. Dissolution 
expenses of the firm Rs. 600 was paid by the 
company. Prepare realisation a/c. 
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  X, Y ©ØÖ® Z GßÓ TmhõÎPÒ •øÓ÷¯ 4 : 3 : 2 GßÓ 

ÂQuzvÀ C»õ£zøu £Qº¢x Á¢uÚº. AÁºPÒ 

Tmhõsø©ø¯ Áøμ¯ÖUP¨£mh {Ö©zvØS 30 áúß 

2019 AßÖ GÚ •iöÁkzuÚº. AßøÓ¯ C¸¨¦ 

{ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 15,000 C¯¢vμ® 20,000

•uÀ :  PhÚõÎPÒ 15,000

X 10,000 \μUQ¸¨¦ 12,000

Y 25,000 öμõUP® 8,000

Z 5,000  

 55,000  55,000

  öPõÒ•uÀ ©Ö¨£¯nõP ¹.50,000 HØÖU 

öPõÒÍ¨£mhx AvÀ uÚx ö\õ¢u £[SPøÍ 

¹.32,000 ©v¨¤¾® «uz öuõøP°øÚ öμõUP©õPÄ® 

{Ö©® ö\¾zv¯x {ÖÁÚ Pø»¨¦a ö\»Ä ¹.600I 

A¢{Ö©® ö\¾zv¯x, 

  Tmhõßø© {ÖÁÚzvß wºÄ C»õ£zvøÚ PnUQkP. 

Or 

 (b) Elucidate the methods for distribution of cash under 

piece meal distribution. 

  ]ØÓÍÄ Â{÷¯õPzvÀ £n Â{÷¯õP® ö\´ÁuºPõÚ 

•øÓPøÍ öuÎÄ¨£kzx. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Ramu and Somu are partners in the ratio 3 : 2 they admit 
Vishnu as a partner for ¼ the share is Rs. 20,000 for 
capital shared among the partners. Show journal entry 
for goodwill.  

 μõ• ©ØÖ® ÷\õ• TmhõÎPÒ AÁºPÎß ÂQu® 3 : 2 

ÂèÝøÁ TmhõÎ¯õP CøÚ¢uÚº. AÁ¸US ¼ £[S 

C»õ£® AÎUP¨£mhx |Øö£¯¸UPõP ¹.10,000 öμõUP©õP 

¹.20,000 ‰»uÚ©õPÄ® ÂèÝ öPõsk Á¢uõº. 

TmhõÎPÒ AøÚÁ¸® C»õ£ £[S ÂQu Ai¨£øh°À 

£Qº¢x öPõÒÍ •iÄ ö\´uÚº. TmhõÎPÒ |Øö£¯øμ 

GÆÁõÖ £[Qmk öPõÒÁx Gß£øu PõsP |Øö£¯¸US 

SÔ¨÷£k u¸P. 

17. Aish and Kutty are partners sharing profit in proportion 
to capital their balance sheet as on 31st March 2020 is as 
under  

Liabilities Rs. Assets Rs. 

Sundry creditors 70,000 Bank 22,000

Bills payable 40,000 Debtors 60,000

Capital accounts  Stock 50,000

Aish 80,000 Building 1,00,000

Kutty 60,000 Furniture 18,000

 2,50,000  2,50,000

 They decided to admit Nancy into partnership with effect 
from 1st April 2020 on the following terms. 
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 (a) ‘Nancy’ shall bring in a capital of Rs. 60,000 for 1/5th 
share of profits. 

 (b) Goodwill is to be valued at Rs. 50,000. 

 (c) Building and furniture was to be depreciated by 5%. 

 (d) Provision for doubtful debts credited at 1½% on 
sundry debtors. 

Show revaluation a/c, capital a/c and balance sheet 
of the reconstructed partnership. 

 Iè ©ØÖ® Smi GßÓ TmhõÎPÒ •øÓ÷¯ •uÀ ÂQuzvÀ 

C»õ£® £Qº¢x Á¸QßÓÚº. AÁºPÎÀ 31.3.2020 |õøÍ¯ 

C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõº 70,000 Á[Q 22,000

ö\¾zuØS›¯ ©õØÖ^mk 40,000 PhÚõÎPÒ 60,000

•uÀ PnUSPÒ  \μUQ¸¨¦ 50,000

Iè 80,000 Pmih® 1,00,000

Smi 60,000 AøÓP»ß 18,000

 2,50,000  2,50,000

 AÁºPÒ ¤ßÁ¸® CÍ[PøÍU P¸zvÀ öPõsk |õß] 

Gß£Áøμ 2020 H¨μÀ 1, AßÖ Tmhõsø©°À ÷\ºzxU 

öPõÒÍ •iÄ GkzuÚº. 

 (A) |õß] uß 1/5 £[SUS ¹.60,000 •uÀ öPõsk 

Á¸Áx 

 (B) |Øö£¯º ¹.50,000 GÚ ©v¨¤kÁx 

 (C) Pmih® ©ØÖ® AøÓP»ß «x 5% ÷u´©õÚ® }USÁx 

 (D) £Ø£» PhÚõÎPÒ «x  1½% ÁμõUPhß JxUS 

E¸ÁõUSP. 

 ©Ö©v¨¥mkU PnUS, •uÀ PnUSPÒ ©ØÖ® C¸¨¦ 

{ø»USÔ¨¦ u¯õº ö\´P. 
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18. A, B, C were partners sharing profit in the proportion of  
4 : 3 : 2 respectively. Their Balance sheet as at 31st March 
2010 respectively. 

Liabilities  Rs. Assets Rs. 

Capital  Goodwill 12,000

A 60,000  Other assets 1,88,000

B 50,000   

C 40,000 1,50,000  

Other liabilities 50,000  

  2,00,000  2,00,000

 A retired on 1.4.2010 on which date the Goodwill of the 
firm was estimated at Rs. 21,000. How will you deal with 
in the books of the firm? 

 A, B, ©ØÖ® C ‰Á¸® TmhõÎPÒ J¨£¢uzvß £i C»õ£ 

|mh[PøÍ 4 : 3 : 2 GßÓ ÂQuzvÀ £Qº¢x öPõshÚº. 

31.3.2007 À AÁºPÍx C¸¨¦ {ø»USÔ¨¦ 

ö£õÖ¨¦PÒ   ¹. ö\õzxUPÒ ¹. 

•uÀ :   |Øö£¯º 12,000

A 60,000  Cuμ ö\õzxUPÒ 1,88,000

B 50,000   

C 40,000 1,50,000  

Cuμ ö£õÖ¨¦PÒ  50,000  

  2,00,000  2,00,000

 1.4.2010&À A K´Ä ö£ÖQÓõº. A÷u ÷uv°À {Ö©zvß 

|Øö£¯º ¹.21,000 GÚ ©v¨¤h¨£mhx. 

 {Ö© HkPÎÀ GÆÁõÖ CuøÚ £vÄ ö\´Áõ´? 
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19. R, S and T were partners sharing profit and losses in the 
ratio of 3 : 2 : 1 respectively. They decided to dissolve the 
firm on 30th June 2016. Their balance sheet as on that 
date was as under 

Liabilities Rs. Assets Rs. 

Sundry creditors 35,000 Fixed assets 60,000

Capital  Current assets 40,000

R 25,000  

S 25,000  

T 15,000  

 1,00,000  1,00,000

 All the assets were realised at Rs. 85,000. The amount 
realised in first instalment Rs. 35,000 in second 
instalment Rs. 25,000 and is third instalment Rs. 25,000. 
Prepare state showing the piecemeal distribution of cash. 

 R, S ©ØÖ® T BQ÷¯õ›ß C»õ£® ©ØÖ® |mh £[S ÂQu® 

•øÓ÷¯ 3 : 2 : 1 áúß 30, 2016 AßÖ {ÖÁÚzøu Pø»UP 

•iÄ ö\´uÚº. AÁºPÐøh¯ C¸¨¦ {ø»USÔ¨¦ 

¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõº 35,000 {ø»a ö\õzxUPÒ 60,000

•uÀ :  |h¨¦a ö\õzxUPÒ

40,000

          R 25,000  

          S 25,000  

          T 15,000  

 1,00,000  1,00,000

 GÀ»õa ö\õzxUPÐ® EnºuÀ ö\´¯¨£mhvß ©v¨¦ 

¹.85,000 Enºu¼ß ©v¨¦ •øÓ÷¯; •uÀ uÁøn 

¹.35,000; CμõshÁx uÁøÚ ¹.25,000; ©ØÖ® ‰ßÓõÁx 

uÁøn ¹.25,000 öμõUPzvß ]Ö]Ö £Qºuø» u¯õº ö\´P. 
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20. A, B and C are partners in a partnership firm. They 

dissolved their partnership on 31.12.2005. They share 

profit in the ratio of 5 : 3 : 2. Their balance sheet was as 

follows: 

Liabilities Rs. Assets Rs. 

Capital:  Premises 40,000

A 50,000 Plant 30,000

B 15,000 Stock 30,000

C 45,000 Debtors 60,000

Creditors 40,000  

A’s loan 10,000  

 1,60,000  1,60,000

 The assets were realized as follows; first installment  

Rs. 30,000 second installment Rs. 73,000 and third 

installment Rs. 47,000. Prepare a statement showing how 

the distribution to the partner should be made. 

 A, B ©ØÖ® C ‰Á¸® J¸ Tmhõßø©°À TmhõÎPÒ 

31.12.2005 ÷uv°ß £i A¢{ÖÁÚ® Pø»UP¨£mhx. 

AÁºPÒ C»õ£ |èhzxUS 5 : 3 : 2 GÚ £Qº¢uÚº. AßøÓ¯ 

C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ :  ÁÍõP® 40,000

A 50,000 ö£õÔÁøP 30,000

B 15,000 \μUQ¸¨¦ 30,000
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ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

C 45,000 PhÚõÎPÒ 60,000

PhÜ¢÷uõºPÒ 40,000  

A&ß Phß 10,000  

 1,60,000  1,60,000

 ö\õzxUPøÍ ÂØÖ ¤ßÁ¸©õÖ £n® ö£Ó¨£mhx. 

 •uÀ uÁøn ¹.30,000 CμõshõÁx uÁøn ¹.73,000 

 ‰ßÓõÁx uÁøn ¹.47,000 

 TmhõÎPÎß £n® £QºÄ ÁÇ[PÀ £mi¯ø» u¯õ›UPÄ®. 

———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2022 

Fourth Semester 

Commerce 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is meant by management?  

 ÷©»õsø©°À ö£õ¸Ò GßÚ? 

2. Define the term ‘staffing’.  

 £o¯õÍº {¯©Úzvß ÁøμÂ»UPn® u¸P. 

3. What do you know about effective planning?  

 vÓø©¯õÚ vmhªhÀ £ØÔ }Âº AÔÁx GßÚ? 

4. What is policy?  

 öPõÒøP •iÄ GßÓõÀ GßÚ? 

5. What do you understand by ‘Centralisation’? 

 AvPõμ ø©¯©õUPÀ £ØÔ }Âº ¦›Áx GßÚ? 

6. What is meant by performance appraisal?  

 ö\¯ÀvÓß ©v¨¤kuÀ Gß£uß ö£õ¸Ò GßÚ! 

Sub. Code 
7BCO4C1 
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7. Define the term ‘Direction’.  

 Pmk¨£kzu¼ß ÁøμÂ»UPn® u¸P. 

8. What is ‘Motivation’?  

 FUSÂzuÀ GßÓõÀ GßÚ? 

9. Define the term ‘Span of control’.  

 Pmk¨£õmk vÓ® £ØÔ ÁøμÂ»UPn® u¸P. 

10. Define 'Controlling’. 

 Pmk¨£kzu¼ß ÁøμÂ»UPn® u¸P. 

 Part B  (5  5 = 25) 

Answer all questions. 

11. (a) State the evolution of management thought.  

  ÷©»õsø© ]¢uøÚ°ß £›nõ©zøu ÂÍUSP. 

Or 

 (b) Explain the importance of management.  

  ÷©»õsø©°ß •UQ¯zxÁzøu ÂÍUSP. 

12. (a) What are the objectives of planning?  

  vmhªh¼ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Explain the types of managerial decision.  

  ÷©»õsø© •iöÁkzu¼ß ÁøPPøÍ ÂÁ›. 
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13. (a) What are the objectives of organizing?  

  Aø©¨¤ß (J¸[Qønzu¼ß) ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Explain the disadvantages of Centralisation of 
authority.  

  AvPõμ ø©¯¨£kzxu¼ß vÓø©PøÍ ÂÍUSP. 

14. (a) State the principles of direction.  

  C¯USu¼ß öPõÒøPPøÍ ÂÍUSP. 

Or 

 (b) What are the barriers of effective communication?  

  vÓø©¯õÚ uPÁÀöuõhº¤ß uøhPÒ ¯õøÁ? 

15.  (a) Enumerate the Importance of controlling.  

  Pmk¨£kzu¼ß •UQ¯zxÁzøu _¸UP©õP ÂÁ›. 

Or 

 (b) Explain the concepts of controlling.  

  Pmk¨£kzu¼ß ußø©PøÍ ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain briefly the functions of management.  

 ÷©»õsø©°ß £oPøÍ ÂÍUSP. 

17. Narrate the guidelines for effective planning.  

 vÓø©¯õÚ vmhªh¼ß ÁÈPõmkuÀPøÍ ÂÍUSP. 

18. Explain the various types of organisation.  

 Aø©¨¤ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 
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19. Explain Herzberg’s two - factor theory.  

 öíºìö£ºUQß Cμsk - --Põμo ÷Põm£õkPøÍ ÂÍUSP. 

20. Explain the various steps involved in the process of 
control.  

 Pmk¨£kzu¼ß £À÷ÁÖ £i{ø»PøÍ ÂÍUSP. 

 
———————— 
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B.Com. DEGREE EXAMINATION, NOVEMBER 2022 

Fourth Semester 

Commerce 

BANKING LAW AND PRACTICE 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define of customer. 

 ÁõiUøP¯õÍ›ß Áøμ¯øÓ. 

2. What do you mean by Bank? 

 Á[Q GßÓõÀ GßÚ? 

3. Give the meaning of Savings Bank Account. 

 ÷\ª¨¦ Á[Q PnUQß ö£õ¸øÍU öPõk[PÒ. 

4. Give the meaning of current account. 

 |h¨¦U PnUQß ö£õ¸øÍU öPõk[PÒ. 

5. What are the meaning of cheques? 

 Põ÷\õø»PÎß ö£õ¸Ò GßÚ? 

6. What is Post-Dated cheque? 

 ¤¢øu¯ ÷uv°mh Põ÷\õø» GßÓõÀ GßÚ? 

Sub. Code 
7BCO4C2 
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7. What is meaning of Paying Banker? 

 Á[Q¯õÍ¸US £n® ö\¾zxÁuß ö£õ¸Ò GßÚ? 

8. Define Endorsement. 

 ¦ÓUSÔ¨¦ Áøμ¯øÓ. 

9. Who is a holder for value? 

 ©v¨¦US øÁzv¸¨£Áº ¯õº? 

10. What is a credit card? 

 A[RPõμ Amøh GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the characteristics of Banker. 

  Á[Q¯õÍ›ß ]Ó¨¤¯À¦PøÍU TÖ[PÒ. 

Or 

 (b) What are the primary general relationship of 
Banker? 

  Á[Q¯õÍ›ß •ußø© ö£õx EÓÄ GßÚ? 

12. (a) What are the features of Current Account? 

  |h¨¦U PnUQß A®\[PÒ ¯õøÁ? 

Or 

 (b) What  are the procedure on closure of Deposit 
Accounts? 

  øÁ¨¦ PnUSPøÍ ‰kÁuØPõÚ |øh•øÓ GßÚ? 
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13. (a) What are the types of dishonour of cheque? 

  Põ÷\õø» ¦ÓUPo¨¤ß ÁøPPÒ ¯õøÁ? 

Or 

 (b) Distinction between cheques and Bills of Exchange. 

  Põ÷\õø» ©ØÖ® ©õØÖa^mkUS® EÒÍ ÷ÁÖ£õk & 
ÂÁ›. 

14. (a) What are the Cardinal Rules Regarding a Valid 
Endorsement? 

  ö\À¾£i¯õS® ¦ÓUSÔ¨¦ öuõhº£õÚ PõºiÚÀ 
ÂvPÒ ¯õøÁ? 

Or 

 (b) What is the consequence of paying by mistake? 

  uÁÖu»õP ö\¾zxÁuß ÂøÍÄ GßÚ? 

15.  (a) What are the duties and responsibilities of a 
collecting banker? 

  ÷\P›US® Á[Q¯õÍ›ß Phø©PÒ ©ØÖ® 
ö£õÖ¨¦PÒ GßÚ? 

Or 

 (b) State the features of credit cards. 

  Qöμim PõºkPÎß A®\[PøÍU SÔ¨¤hÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the special features of relationship between 
Banker and Customer. 

 Á[Q¯õÍ¸US® ÁõiUøP¯õÍ¸US® Cøh°»õÚ 
EÓÂß ]Ó¨¦ A®\[PøÍ ÂÍUS[PÒ. 
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17. Discuss about the Garnishi Order. 

 PõºÛæ Bøn £ØÔ ÂÁõvUPÄ®. 

18. Explain the circumstances dishonour of cheque. 

 Põ÷\õø»°ß `Ì{ø»PøÍ ÂÍUS[PÒ. 

19. Explain the kinds of Endorsement. 

 ¦ÓUSÔ¨¤ß ÁøPPøÍ ÂÁ›. 

20. Explain the Collecting Banker duties undertaken the 
collection of Bill of Exchange. 

 £›©õØÓ ©÷\õuõøÁ Á`¼US® Á[Q¯õÍº Phø©PøÍ 
ÂÍUS[PÒ. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. A sum of Rs.1,200 was lent out for 2 years at simple 
interest. The lender got Rs.1,536 in all. Find the rate of 
interest p.a. 

 uÛ Ámi ÃuzvÀ Cμsk BskPÎÀ ö\¾zuUTi¯ 
ÁøP°À ¹.1,200 Phß ÁÇ[P¨£mkÒÍx. Phß 
öPõkzuÁ¸US ¹.1,536 QøhzuõÀ Bsk Ámi 
ÃuzøuU PnUQkP. 

2. Define Annuity. 

 Bskz öuõøP – Áøμ¯Ö. 

3. Give any two law of exponential function. 

 AkUøP \õº¤ß H÷uÝ® C¸ Âvø¯ TÖ. 

4. Find the value of x , 225log =x . 

 225log =x  GÛÀ x ß ©v¨ø£U PõsP. 

Sub. Code 
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5. Find the symmetric difference, if )8,4,3,2,1{=A  and 

}7,6,4,2{=B . 

 )8,4,3,2,1{=A  ©ØÖ® }7,6,4,2{=B  GÛÀ A ©ØÖ®  

B ß \©a^º ÷ÁÖ£õmøh PõsP. 

6. Define Cardinal number. 

 ö\ÆöÁs – Áøμ¯Ö. 

7. What is the chance of getting a king in a draw from a 

pack of 52 cards? 

 52 ^mkPÒ öPõsk ^mkU PmiÀ ‘Q[’ ^mk QøhUP 

Áõ´¨¦ GßÚ? 

8. Define Conditional Probability. 

 {£¢uøÚ {PÌuPÄ – Áøμ¯Ö. 

9. If the mean of a binomial distribution is 20 and standard 

deviation is 4 then find out n, p and q? 

 J¸ D¸Ö¨¦ £μÁ¼ß \μõ\› 20 BPÄ® vmhÂ»UP®  

4 BPÄ® C¸US® ÷£õx n, p ©ØÖ® q ß ©v¨¦PøÍU 

PõsP. 

10. Comment on the statement, for a poisson distribution, 

Mean = 8 and Variance = 7. 

 \μõ\› 8 ©ØÖ® vmhÂ»UP® ©õÖ£õk 7 GÛÀ GÚÄ® 

£õ´éõß £μÁø»¨ £ØÔ – ]Ö SÔ¨¦. 
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 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) If the difference between true discount and banker’s 
discount on a sum due in 4 months at 3% p.a. is 
Rs.10, find the amount of the bills. 

  Esø© uÒÐ£iUS® Á[Q¯õÍº uÒÐ£iUS® 
EÒÍ Âzv¯õ\® 3% Bsk Ámi ÃuzvÀ  
4 ©õu[PÐUS ¹.10 GÛÀ öuõøP°øÚ PnUQkP. 

Or 

 (b) What principal will accumulate to Rs.5,100 in  
6 months if the simple interest rate is 9%? 

  9% Ámi ÃuzvÀ 6 ©õu[PÎÀ ¹.5,100 QøhUS® 
GÛÀ A\ø»U PnUQkP. 

12. (a) If azayax aaa 3log,2log,log 432 === , show that 

yzxyz 21 =+ . 

  azayax aaa 3log,2log,log 432 ===  GÛÀ 

yzxyz 21 =+  GÚU PõmkP. 

Or 

 (b) Solve : 
2459.0

26.4971
. 

  
2459.0

26.4971
I wº. 

13. (a) In a survey of 1000 families it is found that 454 use 
electricity, 502 use gas, 448 use kerosene, 158 use 
gas and electricity, 160 use gas and kerosene and 
134 use electricity and kerosene for cooking. If all of 
them use atleast one of the three, find how many 
use all the three fuels? 
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  1000 Sk®£[PÎÀ |hzv¯ B´ÂÀ, 454 
Sk®£[PÒ ªß\õμzøu²®, 502 Sk®£[PÒ 
G›Áõ²øÁ²®, 448 Sk®£[PÒ ©sönsön´, 
158 Sk®£[PÒ G›Áõ² ©ØÖ® ªß\õμzøu²®, 160 
Sk®£[PÒ G›Áõ² ©ØÖ® ©sönsøn´ø¯²® 
©ØÖ® 134 ªß\õμ® ©ØÖ® ©sönsøn´ø¯²® 
\©¯¾US¨ £¯ß£kzxQßÓÚº. C®‰ßÔÀ 
JßøÓ¯õÁx AøÚÁ¸® £¯ß£kzvÚõÀ, ‰ßÖ 
G›ö£õ¸mPøÍ²® GzuøÚ Sk®£[PÒ 
£¯ß£kzxQßÓÚ Gß£øu PnUQkP. 

Or 

 (b) If }7,5,3,1{},6,4,2{},9....,2,1,0{ === BAU  and 

}7,6{=C . Find 

  (i) )( BA ∪′  

  (ii) CBA ~)( ∩  

  (iii) )( ′∩CA  

  (iv) )()( CBUA ∪∩∪ . 

  }7,5,3,1{},6,4,2{},9....,2,1,0{ === BAU  ©ØÖ® 

}7,6{=C . GÛÀ 

  (i) )( BA ∪′  

  (ii) CBA ~)( ∩  

  (iii) )( ′∩CA  

  (iv) )()( CBUA ∪∩∪  BQ¯ÁØøÓU PnUQkP. 

14. (a) State and prove law of addition of probability. 

  {PÌuPÂØUPõÚ TmhÀ ÷uØÓzøu TÔ {ÖÄP. 

Or 
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 (b) A box contains n2  tickets among which i
nC  tickets 

bear the number nii ,...,2,1,0, = . A group m  
tickets is drawn. What is the expectation of total 
sum of their numbers? 

  J¸ ö£mi°À n2  iUöPmkPÒ EÒÍÚ, AÁØÔÀ 

i
nC  iUöPmkPÒ ‘i’ GsønU öPõskÒÍx. ÷©¾® 

ni ,...,2,1,0= . J¸ SÊÁõP ‘m ’ iUöPmkPÒ 
GkUP¨£k®÷£õx AÁØÔß Tku¾UPõÚ 
Gvº£õº¨¦ GßÚ? 

15.  (a) A book contains 100 misprints distributed randomly 
throughout its 100 pages. What is the probability 
that a page observed at random contains atleast two 
misprints. Assume Poisson distribution. 

  J¸ ¦zuPzvÀ 100 £UP[PÎÀ ÷uõμõ¯©õP 100 
Aa_¨ ¤øÇPÒ £μÂ²ÒÍÚ. ^μØÓ •øÓ°À 
PÁÛUP¨£mh J¸ £UPzvÀ SøÓ¢u£m\® Cμsk 
Aa_¨¤øÇPÒ C¸¨£uØPõÚ {PÌuPøÁ¨ £õ´éõß 
£μÁø» E£÷¯õQzxU PõsP. 

Or 

 (b) Explain Binomial distribution. 

  D¸Ö¨¦ £μÁø» ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The profit earned when an article is sold for Rs10,050 is 
14 times the loss incurred when it is sold for Rs.3,750. At 
what price should the article be sold of it is desired to 
make a profit of 20%? 

 ¹.10,050 US ÂØP¨£mhõÀ »õ£® DmhUTi¯ J¸ 
ö£õ¸ÍõÚx 14 ©h[S |èhzvÀ ¹.3,750US ÂØP¨£k® 
GÛÀ A¨ö£õ¸Ò 20% »õ£® Dmh GßÚ Âø»°À 
ÂØUP¨£h ÷Ásk®? 



F–7964 

  

  6

17. Find the least value of 01.0loglog2 10 xx −  for 1>x . 

 01.0loglog2 10 xx −  for 1>x  GÛÀ x&ß SøÓ¢u£m\ 
©v¨ø£U PõsP. 

18. If }6,5,4,3{},4,3,2,1{ == BA  and }9,...,2,1,0{=U  then 
verify De-Morgans law. 

 }6,5,4,3{},4,3,2,1{ == BA  ©ØÖ® }9,...,2,1,0{=U  
GÛÀ j&©õºPßì Âvø¯ \›£õº. 

19. State and prove Baye's theorem. 

 ÷£¯ì ÷uØÓzøuU TÔ {ÖÄP. 

20. How to fit a normal distribution, explain with an 
example. 

 C¯À¦ £μÁø» GÆÁõÖ ö£õÖzxÁöuß£øu 
GkzxUPõmkhß ÂÁ›. 

———————— 



  

F–7965   

B.Com. DEGREE EXAMINATION, NOVEMBER 2022 

Fourth Semester 

Commerce 

ADVANCED ACCOUNTANCY — IV 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is work uncertified? 

 \õßÓÎUP¨£hõu ÷Áø» GßÓõÀ GßÚ? 

2. Write short note on fixed price contract. 

 {ø»¯õÚ Âø» J¨£¢u® £ØÔ ]Ö SÔ¨¦ GÊxP.   

3. What do you understand by ‘sub-lease’? 

 xøn SzuøP £ØÔ } AÔÁÚ GßÚ? 

4. State the meaning of landlord. 

 {»UQÇõº ö£õ¸Ò TÖP.  

5. What is complete Repossession? 

 •Êø©¯õÚ ©ÖÁ\® GßÓõÀ GßÚ? 

6. What do you mean by hire purchase system? 

ÁõhøPU öPõÒ•uÀ •øÓ GßÓõÀ ö£õ¸Ò GßÚ? 

Sub. Code 
7BCO4C4 
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7. What is statement of affairs? 

 {v{ø» AÔUøP GßÓõÀ GßÚ? 

8. Who is unsecured creditors? 

 £õxPõ¨£ØÓ PhÜ¢÷uõº Gß£Áº ¯õº? 

9. Write two objectives of departmental accounts. 

 xøÓÁõ› PnUQß Cμsk ÷|õUP[PøÍ GÊxP.  

10. What is debtor system? 

 PhÚõÎ •øÓ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) List out the elements of contract. 

  J¨£¢uzvß TÖPøÍ £mi¯¼kP.  

Or 

 (b) Contract Price Rs. 2,50,000 

  Work Certified Rs. 1,25,000 

  Notional Profit Rs. 60,000 

  80% cash received of work certified. 

  Calculate Profit and Loss Account. 

  J¨£¢u Âø» ¹. 2,50,000 

  \õßÓÎUP¨£mh Âø» ¹. 1,25,000 

  ¦»ÚõPõ C»õ£® ¹. 60,000 

  80% \õßÓÎUP¨£mh ÷Áø»US öuõøP ö£Ó¨£mhx.  

  C»õ£ |mhzvøÚ PnUQkP.  
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12. (a) Explain the procedure for ascertaining : 

  (i) Writing off short workings 

  (ii) Recoupment of short workings. 

  ÁÈ•øÓPÒ PnUQkÁøu ÂÁ›.  

  (i) {øÓÄö£Óõu ÷Áø»ø¯ }USuÀ  

  (ii) {øÓÄö£Óõ ÷Áø»ø¯ v¸®£¨ ö£ÖuÀ.  

Or 

 (b)  On 1st December 2012, the Mundur mines leased 
some land for a minimum rent of Rs. 8,000 for the 
first year, Rs. 17,000 in the second years and 
thereafter Rs. 34,000 per annum merging into a 
royalty of 1.50 per ton with power to recoup short 
working over two years after occuring of short 
workings. The outputs were as follows. 

   2011 – 5000 tonnes, 2012 – 8,800 tones, 2013 – 
34,000 tones, 2014 – 75,000 tons. 

   Show how the accounts would appear in the books 
of the Mundur Mines.  

  i\®£º 1, 2012, •slº _μ[P® SøÓ¢uÍÄ AÍÄ 
ÁõhøP¯õP •uÀ BsiØS ¹. 8,000, Cμshõ® 
BsiØS ¹. 17,000, ÷©¾® Auß ¤ÓS BsiØS  
¹. 34,000 GÚÄ® Aøu Põ¨¦›ø©z öuõøP²hß J¸ 
hßÛØS ¹. 1.50 GÚ Cønzx ö£Ö©õÖ SzuøPUS 
Jzx öPõskÒÍx. ÷©¾® {øÓÄö£Óõu ÷Áø»ø¯ 
Cμsk BsiØS¨¤ß ö£Ö©õÖ® J¨¦U 
öPõÒÍ¨£mhx. EØ£zv ¤ßÁ¸©õÖ.  

   2011 – 5000 hßPÒ, 2012 – 8,800 hßPÒ, 2013 – 
34,000 hßPÒ, 2014 – 75,000 hßPÒ. 

  •slº _μ[P PnUS HkPÎÀ Cx GÆÁõÖ ÷uõßÖ® 

Gß£øuU PshÔP.  
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13. (a) Examine the nature of hire purchase accounts. 

  ÁõhøP öPõÒ•uÀ PnUQß C¯À¤øÚ £›÷\õv.  

Or 

 (b)  Calculate cash price of a machine from the following 
information. 

   Down Payment Rs. 10,000 

   4 annual instalments at the end of each year 

   Rate of Interest 5% p.a. 

  ¤ßÁ¸® uPÁ¼ß£i C¯¢vμzvß öμõUP Âø»ø¯ 
PnUQkP.  

  •ß£n® ¹. 10,000 

  4 Á¸h uÁøn BsiÖv°À  

  Ámi ÂQu® 5% p.a. 

14. (a) Distinction between Insolvency of an individual and 
partnership firm. 

  uÛ|£º ö|õi¨¦ ©ØÖ® Tmk £[S {ÖÁÚ 
ö|õi¨¤øÚ ÷ÁÖ£kzxP.  

Or 

 (b)  Somu of Chennai owes the following sums : 

 Rs. 

Income Tax 2,000

Corporation Tax 300

Wages to 2 Servants 250

Salaries to 4 Clerks 1,350

Rent to Landlord for 3 months 1,500

   Determine the amount payable by him. Preferential 
creditors and unsecured creditors if he become 
insolvent. 
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  ö\ßøÚ°À EÒÍ ÷\õ• ¤ßÁ¸® öuõøPPøÍ 
ö\¾zu ÷Ási°¸UQÓx.  

 ¹. 

Á¸©õÚ Á› 2,000

©õ|Pμõm] Á› 300

Cμsk FÈ¯ºPÒ T¼ 250

|õßS GÊzuºPÎß \®£Í® 1,350

{»UQÇõº ÁõhøP 3 ©õu® 1,500

  AÁº ö|õizx¨ ÷£õÚõÀ •ßÝ›ø© PhÜ¢÷uõºPÒ 
©ØÖ® £õxPõ¨£ØÓ PhÜ¢÷uõºUS ö\¾zu ÷Ási¯ 
öuõøPø¯ wº©õÛUPÄ®.  

15. (a) Apportion the following expenses on the basis of 
cost of goods sold ratio among the four departments 
A, B, C and D 

Sales (Rs.) : A : 2,00,000, B : 1,50,000, C : 1,00,000,  

D : 50,000 

G.P. Ratio : 20% on sales 

Expenses : Salaries Rs. 6,000; Rent and Rates Rs. 1,500, 

Insurance Rs. 1,300 

  ¤ßÁ¸® ö\»ÄPøÍ ÂØÓ ö£õ¸mPÎß öPõÒ•uÀ 

Âø» ÂQuzøu öPõsk |õßS xøÓPÐUS A, B, C 
©ØÖ® D US £Qº¢uÎUP¨£kQÓx.  

ÂØ£øÚ (¹.) : A : 2,00,000, B : 1,50,000, C : 1,00,000,  
D : 50,000 

ö©õzu ÂØ£øÚ 
ÂQu® : 

20% ß ÂØ£øÚ°À 

ö\»ÄPÒ : \®£Í® ¹. 6,000; Ámi ©ØÖ® ÂQu[PÒ 
¹. 1,500, Põ¨¥k ¹. 1,300 

Or 
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 (b)  Explain the procedure to maintain accounts of a 
branch under stock and debtor system. 

  QøÍU PnUQÀ \μUQ¸¨¦ ©ØÖ® PhÚõÎ •øÓ°À 
PnUSPøÍ £μõ©›¨£uØPõÚ |øh•øÓPøÍ ÂÁ›.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Define contract costing and write its features. 

 J¨£¢u PnUQ¯À Áøμ¯Ö. ©ØÖ® AuÛß 
]Ó¨¤¯À¦PøÍ GÊxP.  

17. Vanathi Company took a coal mine for a lease at the rate 
of Rs. 2 per ton payable as royalty with a minimum rent 
of Rs. 30,000 per year. The short workings can be 
recouped during the first three years only. Production is 
given below : 

 1st Year 4,000 tonnes, 2nd Year 12,000 tonnes, and  
3rd year 20,000 tonnes. Give the following ledger 
accounts. 

 (a) Minimum Rent Account 

 (b) Royalty Account 

 (c) Landlord Account 

 (d) Short workings Account. 

 ÁõÚv {ÖÁÚ® {»UP› _μ[Pzøu SzuøPUS ¹. 2 hß 
JßÖUS SøÓ¢uÍÄ ÁõhøP¯õP ¹. 30,000 Põ¨¦›ø© 
ö\¾zv¯x. •uÀ ‰ßÖ BskPÎÀ {øÓÄö£Óõu ÷Áø» 
«möhkUP¨£mhx. EØ£zv ¤ßÁ¸©õÖ :  

 •uÀ Á¸h® 4,000 hßPÒ, 2Áx Á¸h® 12,000 hßPÒ 
©ØÖ® 3Áx Á¸h® 20,000 hßPÒ, ¤ßÁ¸ÁÚÁØÖUS 
÷£÷μmkU PnUS u¸P.  

 (A) SøÓ¢uÍÄ ÁõhøP P/S 

 (B) Põ¨¦›ø© P/S 

 (C) {»UQÇõº P/S  

 (D) {øÓÄö£Óõu ÷Áø» P/S. 
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18. Z Ltd., had purchased a machinery  on hire purchase 
system from Y Ltd. The terms are that Z Ltd., would pay 
Rs. 40,000 down on signing the agreement and annual 
instalments of Rs. 22,000 each commencing from the 
beginning of the next year. Z Ltd., charged depreciation 
at 10% per annum under diminishing balance system.  
Y Ltd charged interest at 10% per annum, prepare 
machinery account and Y Ltd a/c in the books of Z Ltd. 

 Z {ÖÁÚ® Y {ÖÁÚzvhª¸¢x ÁõhøPU öPõÒ•uÀ 

•øÓ°À J¸ C¯¢vμzøu öPõÒ•uÀ ö\´. Z {ÖÁÚ® 

J¨£¢uzvÀ øPö¯õ¨£ªk®÷£õx ¹. 40,000 •uÀ 

öuõøP¯õPÄ® «v öuõøPø¯ ¹. 22,000 Ãu® Akzu 

Bsk Bμ®£ •uÀ uμ ÷Áskö©Ú {£¢uøÚ EÒÍx. 

BsiØS 10% SøÓ¢xö\À C¸¨¦•øÓ ÷u´©õÚzøu  

Z {ÖÁÚ® _©zxQÓx. BsiØS 10% Ámiø¯ Y {ÖÁÚ® 

_©zxQÓx. Z {ÖÁÚ HkPÎÀ Y {ÖÁÚ PnUøP²® 

÷©¾® C¯¢vμU PnUøP²® u¯õº ö\´P.  

19. Discuss the objectives and importance of deficiency 
account. 

 £ØÓõUSøÓ PnUQß ÷|õUP[PÒ ©ØÖ® •UQ¯zxÁzøu 

ÂÁõv.  

20. A firm has two departments, A and B was made by the 
firm itself out of timber supplied by the A department at 
its usual selling price. From the following figures prepare 
Departmental Trading and Profit and loss a/c from the 
year 2020. 

 A B 

 (Rs.) (Rs.) 

Opening stock (1.1.2020) 1,50,000 25,000

Purchases 11,00,000 9,000

Sales 12,00,000 2,30,000
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Transfer to B Dept. 1,50,000 –

Expenses : 

Manufacturing – 30,000

Selling 10,000 3,000

Stock 31.12.2020 1,00,000 35,000

 The stock in the B department may be considered as 
consisting of 75% of timber and 25% other expenses A 
department earned gross profit at the rate of 20% in 
2019. General expenses come to Rs. 1,10,000. 

 J¸ {ÖÁÚzvØS A ©ØÖ® B GÚ Cμsk xøÓPÒ EÒÍÚ. 
B xøÓUS ÷uøÁ¯õÚ AøÓUP»ÝUS›¯ ©μÁøPPøÍ A 
xøÓ ÁÇUP©õÚ ÂØ£øÚ Âø»°À ©μÁøPPøÍ AÎzx 
Á¸QßÓx. 

 ¤ßÁ¸® uPÁ¼ß£i 2020® BskUS›¯ xøÓÁõ›¯õÚ 
Â¯õ£õμ® ©ØÖ® C»õ£ |mh PnUS u¯õº ö\´P.  

 A B 

 (¹.) (¹.) 

öuõhUP \μUQ¸¨¦ (1.1.2020) 1,50,000 25,000

öPõÒ•uÀ 11,00,000 9,000

ÂØ£øÚ 12,00,000 2,30,000

B xøÓUS ©õØÓ® ö\´¯¨£mhøÁ 1,50,000 –

ö\»ÄPÒ : 

EØ£zv – 30,000

ÂØ£øÚ 10,000 3,000

\μUQ¸¨¦ 31.12.2020 1,00,000 35,000

 B xøÓ°À EÒÍ \μUQ¸¨¤À 75% i®£¸®, 25% ©ØÓ 
ö\»ÁõP Ah[Q²ÒÍx. GÚ wº©õÛUP¨£kQÓx. 2019&® 
Bsk A xøÓ ö£ØÓ ö©õzu C»õ£® 20% BS®.  

 {ÖÁÚzvß Jmk ö©õzu ö£õx ö\»Ä ¹. 1,10,000.  

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Write  a note on preference shares. 

 •ßÝ›ø©¨ £[S SÔ¨¦ GÊxP. 

2. What is forfeiture of shares? 

 £[S JÖ¨¤Ç¨¦ GßÓõÀ GßÚ? 

3. What are the two types of acquisition? 

 Dº¨£ø©¨¤ß Cμsk ÁøPPÒ GßöÚßÚ? 

4. What are key components of the acquisition? 

 Dº¨£ø©¨¤ß •UQ¯ TÖPÒ GßöÚßÚ?  

5. Write any two purposes of preparing final accounts. 

 CÖv{ø»U PnUS u¯õ›¨£uØPõÚ ÷|õUP[PÒ 
CμsiøÚ GÊxP. 

6. What are the contents of profit and loss account? 

 C»õ£ |mhU PnUQß EmTÖPÒ GßöÚßÚ? 

Sub. Code 
7BCO5C1 
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7. What is internal reconstruction? 

 EÒ ©Ö ^μø©¨¦ GßÓõÀ GßÚ? 

8. Mention the different types of amalgamation. 

 J¸[Qøn¨¤ß £À÷ÁÖ ÁøPPøÍ SÔ¨¤kP. 

9. What do you mean by preferential creditors? 

 •ßÝ›ø© PhÜ¢÷uõºPÒ £ØÔ } GßÚ ö\õÀQÓõ´? 

10. What is average profit method of valuation of goodwill? 

 \μõ\› C»õ£ •øÓ°À |Øö£¯º PnUQkuÀ GßÓõÀ 
GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Kishore Ltd. issues 20,000 equity shares of Rs. 10 
each payable Rs. 2 on application, Rs. 5 on 
allotment and Rs. 3 on final call. 16,000 shares were 
applied for and allotted. All sums were duly 
received. Show Journal entries in the books of the 
company. 

   Q÷åõº ¼m. 20,000 \›\©¨ £[SPÒ ¹.10 Ãu® 
Âsn£¨£zvØS ¹.2 JxURmiØS ¹.5 ©ØÖ® 
CÖv AøÇ¨¤ØS ¹.3 GÚ ö\¾zx® ÂuzvÀ 
öÁÎ°mhx. 16,000 £[SPÐUS Âsn¨¤UP¨£mk 
JxURk® ö\´¯¨£mhÚ. AøÚzxz öuõøPPÐ® 
•øÓ¯õP¨ ö£Ó¨£mhÚ. {Ö® HkPÎÀ •uØ 
SÔ¨¦PøÍU PõmkP. 

Or 

 (b) Tamilmani Ltd. acquired a land worth Rs. 8,00,000  
from Manoj and issued equity shares of Rs. 10 each 
fully paid up in satisfaction of his claim. Give 
journal entries in the books of Tamilmani Ltd. 
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   uªÌ©o ¼m. ©÷Úõä Gß£Á›hª¸¢x ¹.8,00,000 
©v¨¦ÒÍ {»zøu Áõ[Q AÁ¸US ö\¾zu 
÷Ási¯ •Êz öuõøPø¯²® ¹.10 ©v¨¦ÒÍ 
•ÊÁx® ö\¾zu¨£mh \›\©¨ £[SPÍõP 
öÁÎ°mhx. uªÌ©o ¼m. ß HkPÎÀ 
•uØSÔ¨¦PÒ u¸P. 

12. (a) A Limited company acquired the business of  
Mr. David with the exception of his trade debts and 
trade liabilities. The company however, agreed to 
collect his debts amounting to Rs. 1,00,000 and Pay 
off his creditors amounting to Rs, 45,000. All the 
sums due from his debtors were collected except  
Rs. 3,000 bad debts Rs. 2,000 allowed as cash 
discount. the creditors were paid Rs. 43,000 in full 
settlement. The company agreed to do this job 
against a commission of 2% on the amounts 
collected 1% on payments made. Show the ledger 
accounts assuming that the amount due to vendor 
was paid off.  

   A ¼ªöhm {Ö©® v¸. ÷hÂm ÁoPzøu 
Áõ[Q¯x. ÁoP PhßPÒ ©ØÖ® ö£õÖ¨¦PøÍ 
uÂμ A¢u {ÖÁÚ® PhßPÒ öuøP ¹. 1,00,000 
Á`À ö\´¯ JzxUöPõshx. ©ØÖ® PhÜ¢÷uõº  
¹. 45,000 ²® ö\¾zv¯x. PhÚõÎPÒ öuõøPPÐ® 
Á`¼zx ¹.3,000 uÂμ ©ØÖ® ¹. 2,000 ÁõμõUPhß 
öμõUP uÒÐ£i öPõkUP¨£mhx. PhÜ¢÷uõº  
¹. 43,000 •Ê wºÄ ö\´¯¨£mhx. C¢u {ÖÁÚ® 
2% uμS öuõøPø¯ Á`¼¨£uØS öPõkUP 
JzxÒÍx, 1% £n® ö\¾zu¨£mhx. ÷£÷μmk 
PnUøP ÂØ£øÚ¯õÍº ö\¾zu ÷Ási¯ öuõøP 
ö\¾zu¨£mhuõP AÝ©õÛzx PõmkP. 

Or 
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 (b) Discuss the methods of accounting treatment in 
Acquisition of a business.   

   ÁoP øP¯P¨£kzxu¼Ò EÒÍ PnUQ¯À 
•øÓPøÍ ÂÁõv. 

13. (a) Prepare the trading account for the year ended  
31st March 2016 

 Rs. 

Opening stock 3,50,000 

Closing stock 2,00,000 

Purchases 1,00,000 

Wage paid 15,000 

Sales 3,60,000 

   31.3.2016 ÷uv÷¯õk •iÄÖ® BsiØS Â¯õ£õμU 
PnUQøÚ u¯õ›UPÄ®. 

 ¹. 

öuõhUP C¸¨¦ 3,50,000 

CÖv C¸¨¦ 2,00,000 

öPõÒ•uÀ 1,00,000 

T¼ öPõkzux 15,000 

ÂØ£øÚ 3,60,000 

Or 

 (b) How many types of final accounts are there?  

   CÖv{ø»U PnUQß ÁøPPÒ GzuøÚ? 
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14. (a) Prepare the purchase consideration under net asset 
method from the following information 

  Value of assets taken over :   

 Rs. 

Fixed Assets 17,87,500 

Investments 3,00,000 

Current assets 2,25,000 

5% Debentures 3,85,000 

Current Liabilities 2,50,000 

   ¤ßÁ¸® ÂÁμ[PøÍU öPõsk {Pμ ö\õzxUPÒ 
•øÓ°À öPõÒ•uÀ ©Ö£¯ß GÆÁÍÄ Gß£øu 
PnUQkP. 

 ¹. 

{ø»¯õÚ ö\õzxUPÒ 17,87,500 

•u½kPÒ 3,00,000 

|h¨¦ ö\õzxUPÒ 2,25,000 

5% Phß £zvμ[PÒ 3,85,000 

|h¨¦ ö£õÖ¨¦PÒ 2,50,000 

Or 

 (b) Distinguish between absorption and amalgamation.  

   Dº¨£ø©¨¦ ©ØÖ® J¸[Qøn¨¤ß ÷ÁÖ£õkPøÍ 
GÊxP. 
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15. (a) What are the needs of valuation of shares? 

   £[SPÒ ©v¨¥miØPõÚ ÷uøÁPÒ GßöÚßÚ? 

Or 

 (b) Compute the value of an equity share of each of the  
Company A on the basis of following information.  

 Company A 

 Rs. 

Profit after tax 10,00,000 

12% preference capital (Rs. 100 each) 10,00,000 

Equity capital (Rs. 10 each) 50,00,000 

  Assume that market expectation is 15% of profits 
are distributed.  

   \õuõμn £[Qß ©v¨ø£ A {Ö©zvØS ¤ßÁ¸® 
uPÁ¼ß£i PnUQkP : 

 {Ö©® A  

 ¹. 

Á›US ¤ß C»õ£® 10,00,000 

12% •ßÝ›ø© •uÀ (¹. 100 Ãu®) 10,00,000 

\õuõμn¨ £[S •uÀ (¹. 10 Ãu®) 50,00,000 

   15% \¢øu°À C»õ£® ¤›zx GkUP Gvº£õºUP¨£kQÓx. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Kannady Ltd has 10,000 9% redeemable preference 
shares of Rs. 100 each fully paid. The company decides to 
redeem the shares of 31.12.2007 at a premium of 10%. 
The company makes the following issues:  
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(a) 6,000 equity shares of Rs. 100 each at a premium of 
10% 

 (b) 4,000, 8% debentures of Rs. 100 each 

 The issue was fully subscribed and the allotments were 
made. The redemption was duly carried out. The 
company has sufficient profits. Journalise in the books of 
the company.  

 öPßÚi ¼m. ¹. 100 Ãu® •ÊÁx® ö\¾zu¨£mh 
10,000 9 \uÃu «ÒuS •ßÝ›ø©¨ £[SPøÍ 
öPõsi¸¢ux. 31.12.2007 AßÖ 10 \uÃu •øÚ©zvÀ 
£[SPøÍ «mP {Ö©® •iÄ ö\´ux. {Ö©® ¤ßÁ¸® 
öÁÎ±kPøÍa ö\´ux. 

 (A) 6,000 \õuõμn¨ £[SPÒ ¹. 100 Ãu® (10 \uÃu 
•øÚ©zvÀ) 

 (B) 4,000 8% \uÃu Phß £zvμ[PÒ ¹. 100 Ãu® 
öÁÎ±k •ÊÁx© HØÖUöPõÒÍ¨£mk JxURk® 
ö\´¯¨£mhÚ. «m¦ •øÓ¯õPa ö\´¯¨£mhx. 

 {Ö©® ÷£õx©õÚ C»õ£® öPõsi¸¢ux. {Ö© HkPÎÀ 
•uØ SÔ¨¦PÒ u¸P. 

17. Explain the accounting treatment of profit/loss prior to 
Incorporation and after incorporation period.  

Cøn¨£uØS •ß C»õ£® ©ØÖ® Cøn¨£uØS ¤ßÚº 
C»õ£zvØPõÚ PnUQ¯À •øÓPøÍ ÂÁ›. 

18. Prepare the trading account, profit and loss account for 
the year ended 31st March 2014 and balance sheet as on 
date 
Particulars Dr. balance  

(in Rs.) 
Particulars Cr. balance 

(in Rs.) 

Machinery  30,000 Capital 30,000

Debtors 40,000 Creditors 50,000

Opening stock 12,000 Sales 80,000

Purchase 38,000   

Sales return  3,000   
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Particulars Dr. balance  
(in Rs.) 

Particulars Cr. balance 
(in Rs.) 

Factory Exps. 7,000   

Selling Exps. 11,000   

Office Exps. 9,000   

Cash 10,000   

 1,60,000  1,60,000

 Adjustments :    

 (a) Closing stock Rs. 20,000 

 (b) 10% depreciation of machinery 

 (c) 10% bad debts on debtors.  

 2014, ©õºa 31 ® ÷uv÷¯õk •iÄÖ® BsiØPõÚ 
Â¯õ£õμU PnUS, C»õ£ |mhU PnUS ©ØÖ® 
A¢|õøÍ¯ C¸¨¦{ø»U SÔ¨¤øÚz u¯õ›UPÄ®. 

Â£μ® £ØÖ 
C¸¨¦ 
(¹.) 

Â£μ® ÁμÄ C¸¨¦ 
(¹.)  

C¯¢vμ® 30,000 •uÀ  30,000

PhÚõÎPÒ 40,000 PhÜ¢÷uõº 50,000

öuõhUP C¸¨¦ 12,000 ÂØ£øÚ  80,000

öPõÒ•uÀ 38,000   

ÂØ£øÚz v¸¨£® 3,000  

Bø»a ö\»Ä 7,000   

ÂØ£øÚa ö\»Ä 11,000   

A¾Á»P ö\»Ä 9,000   

öμõUP® 10,000   

 1,60,000  1,60,000



F–7966 

  

  9

 DkPmkuÀ : 

 (A) CÖv C¸¨¦ ¹. 20,000 

 (B) C¯¢vμzvß «x 10% ÷u´©õÚ® 

 (C) PhÚõÎPÒ «x ÁõμõU Phß 10%. 

19. The summarized balance sheet of Siva Ltd. before 
amalgamation is as follows: 

Liabilities Rs. Asset Rs. 

Share of Rs.10 each 5,00,000 Fixed assets 8,80,000

5% debentures 1,00,000 Current Assets 1,20,000

P and L A/c 3,70,000   

Creditors 30,000   

 10,00,000  10,00,000

The new company agreed to take over current assets at 
book values and the fixed assets at Rs. 9,65,000,  
Rs. 50,000 was to be paid for goodwill. The purchase price 
was to be paid as to Rs. 2,55,000 in cash and the balance 
in shares of new company at Rs. 10 each. Prepare 
Realisation account in the books of Siva Ltd.  

 {Ö© J¸[Qøn¨¤ØS •ß ]Áõ ¼m. {Ö©zvß 
C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

¹. 10 Ãu•ÒÍ 
£[SPÒ 

5,00,000 {ø»a 
ö\õzxUPÒ 

8,80,000

5% \uÃu Phß 
£zvμ[PÒ 

1,00,000 |h¨¦a 
ö\õzxUPÒ 

1,20,000

C»õ£ |mhU P/S 3,70,000   

PhÜ¢÷uõº 30,000   

 10,00,000  10,00,000
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 ¦v¯ {Ö©® |h¨¦a ö\õzxUPøÍ Hmk ©v¨¤¾® {ø»a 
ö\õzxUPøÍ ¹. 9,65,000 US GkzxU öPõÒÍa 
\®©vzux. |Øö£¯¸US ¹. 50,000 uμ¨£h ÷Ásk®. 
öPõÒ•uÀ Âø» ¹. 2,55,000 öμõUP©õPÄ® «u® ¦v¯ 
{Ö©zvß ¹. 10 ©v¨¦ÒÍ £[SPÍõPÄ® uμ¨£h 
÷Ásk®. ]Áõ ¼m. {Ö© HkPÎÀ EnºuÀ PnUS 
u¯õ›UPÄ®.  

20. Explain the Liquidators final statement of Account. Give 
proforma of such an account with imaginary figures.   

Pø»¨£õÍ›ß CÖv PnUS AÔUøP ÂÁ›? AzuøP¯ 
PnUQß PØ£øÚ Aø©¨¤øÚ u¸P. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term costing. 

 AhUPÂø» Áøμ¯ÖUP. 

2. What do you know about variable cost? 

 ©õÖ£k® ö\»Ä £ØÔ }Âº AÔÁx GßÚ? 

3. Give the meaning of Simple Average method. 

 \õuõμn \μõ\› ÁÇ[SuÀ •øÓ°ß ö£õ¸Ò u¸P. 

4. Write the formula for Reorder Level. 

 v¸®£ ÁÇ[S® {ø»°ß `zvμ® GÊxP. 

5. What is piece rate system? 

 A»S Ãu Fv¯ •øÓ GßÓõÀ GßÚ? 

6. Write any two reasons for idle time. 

 G¢u G¢u Põμn[PÍõÀ ÷Áø» uøh£kQÓx Gß£uØPõÚ 
H÷uÝ® Cμsk Põμn[PøÍ GÊxP. 

Sub. Code 
7BCO5C2 
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7. What is apportionment? 

 £Qº©õÚ •øÓ GßÓõÀ GßÚ? 

8. What do you know about distribution overhead? 

 £QºÄ ÷©Øö\»Ä £ØÔ }Âº AÔÁx GßÚ? 

9. Define ‘process costing’. 

 ö\¯À•øÓ AhUP® Áøμ¯ÖUP. 

10. What is normal loss? 

 \õuõμn |mh® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the advantages of cost accounting. 

  AhUPÂø» PnUQ¯¼ß |ßø©PøÍ ÂÍUSP. 

Or 

 (b) Give the specimen of cost sheet. 

  AhUPÂø»¨ £mi¯¼ß ©õv›¨£iÁzøu u¸P. 

12. (a) From the following, prepare stores ledger account 
under weighted average methods: 

2018 March 1 Opening balance 1,000 units @ Rs. 10

 5 Purchased goods 200 units @ Rs. 8 

 8 Issued 300 units 

 12 Purchased goods 300 units @ Rs. 6 

 18 Issued 500 units 

 20 Purchased goods 200 units @ Rs. 5 

 25 Issued 300 units 
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  £shP¨ ÷£÷μmkU PnUQøÚ ‘{øÓ°mh \μõ\› 

•øÓ°À’ RÌUPsh ÂÁμ[PÎ¼¸¢x u¯õ›UPÄ® 

2018 ©õºa 1 öuõhUPa \μUQ¸¨¦ 1,000 A»SPÒ ¹. 10 Ãu®

 5 öPõÒ•uÀ 200 A»SPÒ @ ¹. 8 Ãu® 

 8 ÁÇ[Q¯x 300 A»SPÒ 

 12 öPõÒ•uÀ 300 A»SPÒ @ ¹. 6 Ãu® 

 18 ÁÇ[Q¯x 500 A»SPÒ 

 20 öPõÒ•uÀ 200 A»SPÒ @ ¹. 5 Ãu® 

 25 ÁÇ[Q¯x 300 A»SPÒ 

Or 

 (b) From the following particulars, calculate economic 
order quantity. 

Monthly consumption : 300 units 

Cost of material : Rs. 50 per unit 

Cost of placing and receiving an order Rs.50  

Storage and carrying cost 10% of inventory per 
annum. 

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, ]UPÚ Bøn AÍøÁU 
PnUQkP 

©õu ~PºÄ : 300 A»SPÒ 

‰»¨ö£õ¸Îß AhUP® ¹. 50 Kº A»QØS 

öPõÒ•uÀ ©ØÖ® ö£õ¸ÒPÎß ö£ØÓ {ø» ¹.50  

ö£õ¸øÍ ÷\P›zx øÁ¨£uØPõÚ ö\»Ä 

\μUQ¸¨¤À ( 10% Kº BsiØS). 
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13. (a) The following particulars, calculate earnings under  

(i) Rowan Plan   

(ii) Halsey Plan. 
Standard time :  10 hours 
Wage rate per hour :  Rs. 5 
Time taken :  6 hours 

  ¤ßÁ¸® Â£μ[PøÍU öPõsk, ÷μõÁõß vmh® 
©ØÖ® íõÀ÷\ vmh® Ai¨£øh°À Á¸©õÚ® 
PnUQkP. 

{ºn°UP¨£mh ÷|μ® : 10 ©o ÷|μ® 
©oU T¼ Âu® :  ¹. 5 Kº ©o ÷|μzvØS 

GkzxU öPõsh ÷|μ® : 6 ©o ÷|μ® 

Or 

 (b) Explain briefly the different methods of 
measurement of Labour turnover. 

  öuõÈ»õÍº _ÇØ] Ãuzøu AÍÂk® £À÷ÁÖ 
ÁøPPøÍ ÂÍUSP. 

14. (a) Ascertain the direct material percentage rate and 
direct labour hour, percentage rate of works 
overhead. 
Factory overheads : Rs. 54,000 
Direct wages : Rs. 36,000 
Labour hours worked : 27,000 labour hours 

  ÷|μi ‰»¨ö£õ¸Ò \uÃu ÂQu® ©ØÖ® ÷|μi T¼ 
©o \uÃu ÂQu® GÚU öPõsk ÷Áø»UPõÚ \uÃu 
÷©Øö\»ÂøÚU PnUQkP. 
öuõÈØ\õø»UPõÚ ÷©Øö\»ÄPÒ ¹.54,000 

  ÷|μiUT¼ ¹.36,000  
  ÷Áø»¯õmPÒ £oUPõÚ ÷|μ® : 27,000 £o ÷|μ® 

Or 

 (b) Explain Administrative overhead and selling 
overhead. 

  {ºÁõP ÷©Øö\»Ä ©ØÖ® ÂØ£øÚ ÷©Øö\»Ä £ØÔ 
ÂÁ›UP. 
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15.  (a) The following data is available in respect of Job  
No. 877: 

  Direct materials : Rs. 17,000; Wages 160 hours at 
Rs. 50 per hour, Variable overheads incurred for all 
Jobs Rs. 80,000 for 2,000 labour hours. Fixed 
overheads are absorbed at Rs. 20 per hour: 

Find the profit or loss from the Job if the job is 
billed for Rs. 40,000. 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 877® £o GsqUS›¯ 
£o AhUPzøuU PõsP. 

  ÷|μi ‰»¨ö£õ¸mPÒ ¹.17,000 ; T¼  160 ©o 
÷|μ[PÒ ¹.50 Kº ©o ÷|μzvØS ©õÖ£k® 
÷©Øö\»Ä AøÚzx £oPÐUS® ¹.80,000® 2,000 
öuõÈ»õÍº ©o ÷|μ[PÒ. {ø» ÷©Øö\»ÄPÒ 
¹.20 Kº ©o ÷|μzvØS GkzxU öPõÒÍ¨£hÀ 
÷Ásk®. 

  C¨£oUPõÚ ¤À ¹.40,000 ö£Ó¨£mhx. 
C¨£oUPõÚ C»õ£® (A) |mh® PnUQkP. 

Or 

 (b) The following expenditure is incurred for producing 
an article name “XXX” materials (400 units)  
Rs. 4,000, labour of Rs. 2,000 Indirect expenses 
150% of labour. Normal loss is 5% of the input. One 
unit of wastage is sold for Rs. 8. Output is 360 units. 
Prepare the process account and abnormal loss/gain 
account. 

  RÌUPsh ö\»ÄPÒ “XXX” GßÓ ö£õ¸øÍ EØ£zv 
ö\´¯ ÷|º¢uøÁ : 

  ‰»¨ö£õ¸ÒPÒ (400 A»SPÒ) ¹. 4,000, T¼ 
¹.2,000 ©øÓ•P ö\»ÄPÒ T¼°À 150% \õuõμn 
|mh® EÒÏmiÀ 5% BS®. PÈÄPÒ Kº A»SUS 
¹. 8 ÂØ£øÚ ö\´¯¨£kQÓx. EØ£zv ö\´u 
ö£õ¸ÒPÒ 360 A»SPÒ. £i•øÓ PnUQøÚ²® 
ªøP |mh®/C»õ£ PnUQøÚ u¯õº ö\´P. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain briefly the differences between cost accounting 
and financial accounting. 

 AhUP Âø» PnUQ¯¾US® {v{ø» PnUQ¯¾US® 
Cøh÷¯ EÒÍ ÷ÁÖ£õkPøÍ ÂÍUSP. 

17. Two types of materials X and Y are used in a factory as 
follows : 

 Normal usage 600 units each per week 

 Maximum usage 900 units each per week 

 Minimum usage 300 units each per week 

 Re-order quantity X 4,800 units; Y 7,200 units 

 Re-order period X 4 to 6 weeks; 

 Re-order period Y 2 to 4 weeks; 

 Calculate for each material 

 (a) Re-order level 

 (b) Minimum level 

 (c) Maximum level 

 (d) Average stock level 

 J¸ öuõÈØ\õø»°À Cμsk Âu©õÚ ‰»¨ö£õ¸mPÒ 
£¯ß£kzu¨£kQßÓ ÂÁμ® ¤ßÁ¸©õÖ : 

 \μõ\› £¯ß£õk 600 A»SPÒ J¸ ÁõμzvØS 

 ªøP¨ £¯ß£õk 900 A»SPÒ J¸ ÁõμzvØS 

 SøÓ¢u£m\ £¯ß£õk 300 A»SPÒ J¸ ÁõμzvØS 

 v¸®£ & Bøn AÍÄ X 4,800 A»SPÒ; Y 7,200 
A»SPÒ 

 v¸®£ & Bøn Põ»® X 4 – 6 Áõμ[PÒ; 

 v¸®£ & Bøn Põ»® Y 2 – 4 Áõμ[PÒ; 
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 JÆöÁõ¸ ‰»¨ö£õ¸mPÐUS® PnUQkP : 

 (A) v¸®£ & Bøn {ø» 

 (B) SøÓ¢u£m\ \μUQ¸¨¦ {ø» 

 (C) AvP£m\ \μUQ¸¨¦ {ø» 

 (D) \μõ\› \μUQ¸¨¦ {ø». 

18. The following particulars apply to a particular Job : 

 Standard Production per hour 6 units 

 Normal rate per hour Rs. 1.20 

 In a 8 hour day 

 X produces 32 units 

 Y produces 42 units 

 Z produces 50 units 

 Calculate the wages of these workers under Merrick 
Multiple piece rate system. 

 J¸ SÔ¨¤mh £oUS £¯ß£kzv¯ ÂÁμ[PÒ 
¤ßÁ¸©õÖ : 

 {ºn°UP¨£mh Põ»® J¸ ©o ÷|μzvØS 6 A»SPÒ 

 \õuõμn ÷|μ ÃuU T¼ – ¹.1.20 J¸ ©o ÷|μzvØS 

 J¸ |õøÍUS 8 ©o ÷|μ[PÒ ÷Áø»  

 X EØ£zv ö\´u A»SPÒ 32  

 Y EØ£zv ö\´u A»SPÒ 42  

 Z EØ£zv ö\´u A»SPÒ 50  
 ö©›Uì £» A»S Âu •øÓø¯ £¯ß£kzv ÷©ØPsh 

£o¯õÍºPÎß Á¸©õÚzøu PnUQkP. 

19. A factory has three service department L, M and N and 
two production department X and Y. The following are 
the expenses allocated and apportioned to the 
departments as per primary distribution summary. 

L 
(Rs.) 

M 
(Rs.) 

N 
(Rs.) 

X 
(Rs.) 

Y 
(Rs.) 

10,000 8,000 12,000 30,000 40,000
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 The following additional information is also available on 
the basis of a detailed analysis made. 

 Service department Production department

 L M N X Y 

L’s service used – 20% 30% 30% 20% 

M’s service used – – 40% 30% 30% 

N’s service used – – – 60% 40% 

 Prepare a statement showing apportionment of service 
department overheads under the step method. 

 J¸ öuõÈØ\õø»°À L, M ©ØÖ® N ‰ßÖ ÷\øÁz 
xøÓPÐ® X ©ØÖ® Y C¸ EØ£zv xøÓPÐ® EÒÍÚ. 
¤ßÁ¸® ÂÁμ[PÒ •ußø© ÁÇ[PÀ •øÓ°À 
xøÓ°ß ö\»ÄPÒ JxURk ©ØÖ® £Qº©õÚ® 

L 
(¹.) 

M 
(¹.) 

N 
(¹.) 

X 
(¹.) 

Y 
(¹.) 

10,000 8,000 12,000 30,000 40,000
 ¤ßÁ¸® TkuÀ ÂÁμ[PÎ¼¸¢x Â›ÁõÚ Bμõ´uÀ 

÷©®£kzxuÀ ÷Ásk® 

 ÷\øÁz xøÓ EØ£zv xøÓ

 L M N X Y 

L’ ÷\øÁ – 20% 30% 30% 20% 

M’ ÷\øÁ – – 40% 30% 30% 

N’ ÷\øÁ – – – 60% 40% 

 ÷\øÁzxøÓ°ß ÷©Øö\»ÄPøÍ Ho¨£i •øÓ°À 
£Qº¢uÎzu AÔUøP u¯õ›UPÄ®. 

20. Distinguish between Job costing and process costing. 
What are the advantages and limitations of process 
costing? 

 £o AhUPzvØS® £i•øÓ AhUPzvØS® EÒÍ 
÷ÁÖ£õkPøÍ ÂÍUSP. £i•øÓ AhUPzvß |ßø© 
©ØÖ® wø©PÒ ¯õøÁ? 

 ———————— 
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Commerce 

COMMERCIAL LAW 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define contract. 

 J¨£¢uzøu Áøμ¯Ö. 

2. What is acceptance? 

 HØ¦ GßÓõÀ GßÚ? 

3. What is an Indemnity? 

 CÇ¨¥k GßÓõÀ GßÚ? 

4. What do you mean by a Guarantee? 

 EzuμÁõu® GßÓõÀ GßÚ? 

5. What is a pledge? 

 AhS GßÓõÀ GßÚ? 

6. Who is a finder of goods? 

 \μUS Psk¤i¨£Áº ¯õº? 

Sub. Code 
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7. What is ratification? 

 J¨¦uÀ GßÓõÀ GßÚ? 

8. What is non commercial agents? 

 ÁoP•ØÓ •PÁºPÒ GßÓõÀ GßÚ? 

9. What is meant by a condition? 

 {£¢uøÚ GßÓõÀ GßÚ? 

10. What is meant by future goods?  

 GvºPõ» \μUS GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the elements of a valid contract? 

  ö\À¾£i¯õS® J¨£¢uzvß TÖPÒ ¯õøÁ? 

Or 

 (b) What are the effects of fraud? 

  ÷©õ\i°ß ÂøÍÄPÒ GßÚ? 

12. (a) Distinguish between indemnity and guarantee. 

  CÇ¨¥k ©ØÖ® EzuμÁõuzøu ÷ÁÖ£kzx[PÒ. 

Or 

 (b) What are the features of contract of guarantee? 

  J¨£¢u EzvμÁõuzvß A®\[PÒ GßÚ? 

13. (a) When does a bailment come to an end? 

  J¨£øhÄ G¨÷£õx •iÄUS Á¸®? 

Or 

 (b) State the concept of sale by non-owners. 

  E›ø©¯õÍº AÀ»õ÷uõº ÂØ£øÚ ö\´uÀ Gß£x 
£ØÔ GÊx[PÒ. 
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14. (a) Point out any four elements of a valid ratification. 
  ö\À¾£i¯õS® J¨¦u¼ß |õßS TÖPøÍ²® 

_miUPõmk[PÒ. 

Or 

 (b) Bring out the extent of the agent’s authority. 
  •PÁ›ß AvPõμzvß AÍøÁ SÔ¨¤k[PÒ. 

15.  (a) What are the different types of goods? 
  £À÷ÁÖ ÁøP¯õÚ \μUSPÒ ¯õøÁ? 

Or 

 (b) State the implied warranties in a contract of sale. 
  ÂØ£øÚ J¨£¢uzvÀ EÒÍõº¢u EzuμÁõu[PøÍ 

SÔ¨¤k[PÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the various classifications of contracts. 
 J¨£¢u[PÎß £À÷ÁÖ ÁøP£õkPøÍ ÂÍUS[PÒ. 

17. Explain the essentials of a valid guarantee. 
 ö\À¾£i¯õS® EzuμÁõuzvß Azv¯õÁ]¯[PøÍ 

ÂÍUS[PÒ. 

18. Explain the rights and duties of a finder of goods. 
 \μUSPøÍ Psk¤i¨£Á›ß E›ø©PÒ ©ØÖ® Phø©PøÍ 

ÂÍUS[PÒ. 

19. Enumerate liabilities of the principal towards third 
parties. 

 ‰ßÓõ® uμ¨¤Ú¸US ö£õÖ¨¦PøÍ PnUQk[PÒ. 

20. Enumerate the essentials of a contract of sale under the 
sale of goods act. 

 ÂØ£øÚ \mhzvß RÌ ÂØ£øÚ J¨£¢uzvß 
Azv¯õÁ]¯[PøÍ PnUQk[PÒ. 

———————— 
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Commerce 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is tax?  

 Á› GßÓõÀ GßÚ? 

2. What is Indirect tax?  

 ©øÓ•P Á› GßÓõÀ GßÚ? 

3. Define Income.  

 Á¸©õÚzøu Áøμ¯ÖUPÄ®. 

4. Who is person under the Income tax act?  

 Á¸©õÚ Á›a \mhzvß RÌ |£º ¯õº? 

5. What is meant by salary?  

 \®£Í® GßÓõÀ GßÚ? 

6. What is meant by capital expenditure?  

 ‰»uÚ ö\»ÄPÒ GßÓõÀ GßÚ? 

Sub. Code 
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7. Define business.  

 ÁoPzøu Áøμ¯Ö. 

8. What do you mean by admissible expenses?  

 HØPzuUP ö\»ÄPÒ GßÓõÀ GßÚ? 

9. What do you mean by capital assets?  

 ‰»uÚ ö\õzxUPÒ GßÓõÀ GßÚ? 

10. What is casual Income?  

 \õuõμn Á¸©õÚ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the history of Direct tax.  

  ÷|μi Á›°ß Áμ»õØøÓ TÖ[PÒ. 

Or 

 (b) What are the main components of Income tax act?  

  Á¸©õÚ Á›a \mhzvß •UQ¯ TÖPÒ ¯õøÁ? 

12. (a) Mr. Singh an Indian citizen went to U.S.A on  

10th Oct 2021 and returned to India after two years 

stay there. Again on 10th Oct 2006. he went to Iran 

but returned on 10th May 2021 He made another 

attempt to go abroad the finally succeeded to go to 

Canada. He left Delhi for Canada on 10 Feb 2022. 

Find out his residential status for assessment years 

2021 – 2022 and 2022 – 2023. 
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  J¸ ][ J¸ C¢v¯ Si©Pß 10 AU÷hõ£º 2021 

AßÖ U.S.A.USa ö\ßÖ v¸®¤Úõº Cμsk 

Á¸h[PÒ PÈ¢x C¢v¯¸US, «sk® 10 AU÷hõ£º 

2006 AßÖ AÁº DμõÝUSa ö\ßÓõº, BÚõÀ ÷© 10 

2021 AßÖ v¸®¤Úõº, AÁº öÁÎ|õk ö\À» 

©ØöÓõ¸ •¯Ø]ø¯ ÷©ØöPõshõº, CÖv¯õP 

PÚhõÄUSa ö\ßÓõº. AÁº ¤¨μÁ› 10 2022 

öhÀ¼US PÚhõøÁ Âmk öÁÎ÷¯ÔÚõº. 

©v¨¥mk BskPÐUPõÚ 2021 – 2022 ©ØÖ® 2022 

– 2023 BQ¯ BskPÎÀ AÁμx Si°¸¨¦ 

{ø»ø¯U PshÔ¯Ä®. 

Or 

 (b) What are the difference between capital loss and 

revenue loss? 

  ‰»uÚ CÇ¨¦US® Á¸Áõ´ CÇ¨¦US® GßÚ 

Âzv¯õ\®? 

13. (a) Pandian an employee of a company at Delhi 

(Population above 25 lakhs) is in receipt of a 

monthly salary of Rs. 3,000 during the P.Y. 2021-22. 

He is also entitled for bonus equal to 2 months 

salary and entertainment allowance of Rs. 300 p.m. 

(with effect from 01.04.1966. He is provided with a 

rent free unfurnished accommodation owned by the 

company. Annual Rental value of the same type of 

accommodation on the same locality is Rs. 10,000. 

  Find out value of the rent-free accommodation. 
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  öhÀ¼°À EÒÍ J¸ {ÖÁÚzvß FÈ¯μõÚ 

£õsi¯ß (25 »m\zxUS® AvP©õÚ ©UPÒ 

öuõøP) 2021-2022 {v¯õsiÀ ¹.3,000 

\®£Ízøu¨ ö£ÖQÓõº. 2 ©õu \®£Í® ©ØÖ® 

ö£õÊx÷£õUS öPõk¨£ÚÄ ¹.300US \©©õÚ 

÷£õÚõº (01.04.1966 •uÀ A©¾US Á¸QÓx) 

AÁ¸US {ÖÁÚzvØS ö\õ¢u©õÚ ÁõhøP 

C»Á\©õP ÁÇ[P¨£hõu u[Sªh® 

ÁÇ[P¨£kQÓx. J÷μ ChzvÀ J÷μ ©õv›¯õÚ 

u[Sªh[PÎß Bsk ÁõhøP ©v¨¦ ¹.10,000 

BS®. ÁõhøP C»Á\ u[Sªhzvß ©v¨ø£ 

PshÔ¯Ä®. 

Or 

 (b) What are the deduction U/S 16?  

  Â»US U/S 16 GßÓõÀ GßÚ? 

14. (a) Explain the term block of assets.  

  ö\õzxPÎß öuõSv GßÓ ö\õÀø» ÂÍUSP. 

Or 

 (b) From the following statements compute the 

Business Income.  

(i) Commission earned Rs. 1,20,000 

(ii) Sales Rs.20,000 

(iii) Purchases Rs. 20,000 

(iv) Staff salary Rs. 11,000 

(v) Purchase of typewriter Rs. 8,000 
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  ¤ßÁ¸® AÔUøPPÎ¼¸¢x ÁoP Á¸©õÚ® 
PnUQkP : 

(i) uμS ¹. 1,20,000 

(ii) ÂØ£øÚ ¹. 20,000 

(iii) öPõÒ•uÀ ¹. 20,000 

(iv) £o¯õÍº \®£Í® ¹. 11,000 

(v) umha_ C¯¢vμ® Áõ[SuÀ ¹. 8,000 

15. (a) Mr. Raman Raju Inherited a house at Ludhiyana 
from his father Mr. D. Raju on 01.01.2016  
[CII – 117] . The house was acquired by Mr. D Raju 
in 2010–2011 for Rs. 60,000 and its FMV as on 
01.04.2012 was Rs. 5,20,000 and it was sold in 
2021–2022 for Rs. 13,50,000. Find out Indexed cost 
and capital grain.  

  v¸. μõ©ß μõã 01.01.2016 AßÖ AÁμx u¢øu 
v¸.i. μõãÂhª¸¢x ¿v¯õÚõÂß J¸ Ãmøh¨ 

ö£ØÓõº [CII – 117] . C¢u Ãmøh v¸.i. μõã  

2010–2011 B® BsiÀ ¹. 60,000 BPÄ® 

01.04.2012 {»Áμ¨£i Auß FMV ¹. 5,20,000 

BPÄ®, 2021–2022 B® BsiÀ ¹. 13,50,000 
SÔ±mk ö\»Ä ©ØÖ® ‰»uÚ Buõ¯zøuU 

PshÔ¯Ä®. 

Or 

 (b) Briefly explain the capital gains which are 
exempted from tax.  

  Á›°¼¸¢x Â»US AÎUP¨£mh ‰»uÚ 
Buõ¯[PøÍ _¸UP©õP ÂÍUS[PÒ. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the legal framework of Direct tax.  

 ÷|μi Á›°ß \mh Pmhø©¨ø£ ÂÍUSP. 

17. Which of the following Incomes are taxable when the 
residential status of Mr. V is a resident. 

(a) Income accured in Canada but received in India  
Rs. 2,000 

 (b) Rs. 5,000 earned in Africa and received there but 
brought to India. 

 (c) Rs. 5,000 earned in India but received in Canada. 

 (d) Rs. 10,000 earned and received in Srilanka from a 
business controlled from India. 

 (e) House property Income (computed) from Srilanka  
Rs. 2,000. 

 (f) Rs. 4000 was past untaxed foreign income which 
was brought to India during the PY 

 (g) Profit earned from a business in Kanpur.  

 v¸.Â Cß Si°¸¨¦ {ø» J¸ Si°¸¨£õÍμõP 
C¸US® ÷£õx, \õuõμn©õP Á]¨£Áº AÀ», Si²›ø© 
ö£ÓõuÁº ¤ßÁ¸® Á¸©õÚ[PÎÀ Gx Á› 
ÂvUP¨£kQÓx 

 (A) PÚhõÂÀ Á¸©õÚ® Dmh¨£mhx, BÚõÀ 
C¢v¯õÂÀ ¹.2,000 ö£Ó¨£mhx 

 (B) B¨¤›UPõÂÀ ¹.5,000 \®£õvzux A[S ö£ØÓõº, 
BÚõÀ C¢v¯õÄUS öPõsk Áμ¨£mhõº 
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 (C) C¢v¯õÂÀ ¹.5,000 \®£õvzuõ¾® PÚhõÂÀ 

ö£Ó¨£mhx 

 (D) C¢v¯õÂÀ C¸¢x Pmk£kzu¨£mh 

ÁoPzv¼¸¢x C»[øP°À ¹.10,000 \®£õvzx 

ö£Ó¨£mhx 

 (E) C»[øP°¼¸¢x Ãmk ö\õzx Á¸©õÚ® 

(PnUQh¨£mhx) ¹.2,000 

 (F) YPY Cß ö£õx C¢v¯õÄUSU öPõsk Áμ¨£hõu 

öÁÎ|õmk Á¸©õÚ® ¹.4,000 

 (G) Põß§›À J¸ ÁoPzuõÀ ö£Ó¨£mh »õ£®. 

18. Mr. Bhanu is working in Zebra Ltd. Since last 25 years  

9 months. Company allows 2 months leave for every 

completed year of service to its employees. During the 

Job, he had availed 20 months leave at the time of 

Retirement on 10.8.2021 he got 1,50,000 as leave 

encashment. As on the date, his basic  salary was  

5,000 p.m., D.A. was 2,000 p.m. commission was 5% on 

turnover 2,000 p.m., (fixed p.m.) turnover effected by the 

assessee during last 12 months (Evenly) 5,00,000. Bhanu 

got on Increment of 1,000 p.m. from 1.1.2021 in basic and 

500 p.m. in D.A. compute his taxable leave encashment 

salary. How shall your answer differ if the assessee had 

taken 2 months leave Instead of 20 months, during his 

continuation of Job? 



F–7969 

  

  8

 v¸. £õÝ ã¨μõ ¼ªöhm {ÖÁÚzvÀ Ph¢u  
25 BskPÎÀ 9 ©õu[PÎÀ £o¯õØÔ Á¸QÓõº. 
{ÖÁÚ® uÚx FÈ¯ºPÐUS §ºzv ö\´¯¨£mh 
JÆöÁõ¸ Á¸h ÷\øÁUS® 2 ©õu Âk¨¦ AÝ©vUQÓx. 

÷Áø»°ß ÷£õx AÁº 20 ©õu Âk¨¦ ö£ØÓõº. 
10.8.2021 AßÖ K´Ä ö£Ö® ÷£õx ; AÁ¸US 
Âk¨¦UPõÚ £n©õP 1,50,000 ¹£õ´ Qøhzux. A¢u 

÷uv°ß £i, AÁμx Ai¨£øh \®£Í® 5,000 p.m., i.H. 

2,000 p.m. uμS 5% ÂØÖ•uÀ + 2,000 p.m., ({ø»©õÚ  

p.m.) Ph¢u 12 ©õu[PÎÀ ©v¨¥mhõÍμõÀ (\©©õP) 

5,00,000 £õÝÄUS 1,000 p.m. 1/1/2021 •uÀ Ai¨£øh 

©ØÖ® 500 p.m. i.H. AÁμx Á›Âv¨¦ Âk¨¦ SÔ±mk 

\®£Ízøu PnUQk[PÒ. ©v¨¥mhõÍº uÚx ÷Áø»ø¯z 
öuõh¸® ÷£õx 20 ©õu[PÐUS® £v»õP  

2 ©õu Âk¨¦ Gkzv¸¢uõÀ E[PÒ £vÀ GÆÁõÖ 
÷ÁÖ£k®? 

19. The following compute the taxable income under the head 

Income from business profit, before Adjusting the 

following items is Rs. 5,50,000. 

 Rs.

Administrative expenses 10,000

Trade expenses 5,000

Household expenses 3,000

Discount allowed 4,000

Income tax 400

Provisions for bad debts 2,000

Bad debts 3,000

Donation to Prime Minister National relief fund 4,000

Legal fee 200
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 ¤ßÁ¸ÁÚÁØøÓ, ÁoP C»õ£zv¼¸¢x QøhUS® 

Á¸©õÚzvß RÌ Á› ÂvUPUTi¯ Á¸©õÚzøu 

PnUQk[PÒ, ¤ßÁ¸® ö£õ¸mPøÍ \›ö\´²® •ß 

¹.5,50,000 

 ¹.

{ºÁõP ö\»ÄPÒ 10,000

ÁºzuP ö\»ÄPÒ 5,000

Ãmk ö\»ÄPÒ 3,000

uÒÐ£i AÝ©vUP¨£mh  4,000

Á¸©õÚ Á› 400

ÁõμõU PhÝUPõÚ HØ£õk 2,000

ÁõμõU PhßPÒ 3,000

¤μu©º ÷u]¯ {Áõμn {vUS |ßöPõøh 4,000

\mh Pmhn® 200

20. Mr. M.Co the following during the year ending 31.3.2022 

(a) Dividend declared M.Co. on 31.03.2022 Rs. 6,000 

 (b) Dividend declared by Z Co 31.03.2022 Rs. 9,000 

 (c) Interim dividend received on 01.05.2021 Rs. 3,000 

 (d) He own gold worth Rs. 10,00,000 as prize money on 

horse races. Three horses are owned by him and 

exp. Incurred on maintenance of these horses 

amounted to Rs. 1,60,000. Compute the Income 

from other sources.  
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 31.3.2022 Ehß •iÁøh¢u BsiÀ v¸.G®.÷Põ. 

(A) v¸. G®.÷Põ. AÔÂzu DÄzöuõøP 31.03.2022 
AßÖ ¹. 6,000 

 (B) Z & Co AÔÂzu DÄzöuõøP 31.03.2022 ¹. 9,000 

 (C) 01.05.2021 AßÖ ö£Ó¨£mh CøhUPõ» DÄzöuõøP 
¹. 3,000 

 (D) Svøμ £¢u¯[PÎÀ £›_z öuõøP¯õP ¹. 10,00,000 
©v¨¦ÒÍ u[Pzøu öÁßÓõº. ‰ßÖ SvøμPÒ 
AÁ¸US ö\õ¢u©õÚøÁ ©ØÖ® Põ»õÁv¯õQßÓÚ. 
C¢u SvøμPøÍ £μõ©›¨£uØS ¹. 1,60,000 BS® 
¤Ó ‰»uÚ Á¸©õÚzøu PnUQk[PÒ. 

  
———————— 



  

F–7970   

B.Com. DEGREE EXAMINATION, NOVEMBER 2022 

Fifth Semester 

Commerce 

Elective – MS-OFFICE 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is computer? 

 Po¨ö£õÔ GßÓõÀ GßÚ? 

2. What is CPU? 

 CPU GßÓõÀ GßÚ? 

3. What is M.S. Word? 

 M.S. Word GßÓõÀ GßÚ? 

4. What is undo? 

 ö\¯ÀuÂº GßÓõÀ GßÚ? 

5. What is spread sheet? 

 Â›uõÒ GßÓõÀ GßÚ? 

Sub. Code 
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6. What is Row? 

 Á›ø\ GßÓõÀ GßÚ? 

7. What is new table? 

 ¦v¯ AmhÁøn GßÓõÀ GßÚ? 

8. What is query? 

 ÂÚÁÀ GßÓõÀ GßÚ? 

9. What is visual element? 

 Põm] EÖ¨¦ GßÓõÀ GßÚ? 

10. What is Animation? 

 C¯[S £h® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write the components of a computer. 

  J¸ Po ö£õÔ°ß £õP[PøÍ GÊxP. 

Or 

 (b) What are the limitations of computer? 

  Po¨ ö£õÔ°ß SøÓ£õkPÒ ¯õøÁ? 

12. (a) How do you editing a document? 

  J¸ BÁnzøu GÆÁõÖ v¸zxÁõ´? 

Or 

 (b) What are the uses of Header? 

  uø» SÔ¨¤ß £¯ßPÒ ¯õøÁ? 
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13. (a) What do you know copying formula? 

  `zvμzøu |PÀ GkzuÀ SÔzx }Âº AÔÁx ¯õx? 

Or 

 (b) Write a short note on auto fill. 

  uõÛ¯[Q ö£õ¸zx ]Ö SÔ¨¦ GÊxP. 

14. (a) What are the advantages of new database? 

  ¦v¯ uμÄuÍzvß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Write a short note on primary key. 

  •ußø© Á›ø\ SÔzx ]Ö SÔ¨¦ GÊxP. 

15.  (a) State the role of MS-PowerPoint in business. 

  Â¯õ£õμzvÀ MS-PowerPoint&ß £[QøÚ ÂÁ›. 

Or 

 (b) What do you know animation effect? 

  Aø\Åmh ÂøÍÄ SÔzx }Âº AÔÁx ¯õx? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the advantages of computers in business. 

 Â¯õ£õμzvÀ Po¨ö£õÔ°ß |ßø©PøÍ ÂÁ›. 

17. What are the uses of MS word? 

 MS Word&ß £¯ßPÒ ¯õøÁ? 
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18. Write the various steps in preparation of wage sheet. 

 T¼ uõÒ u¯õ›¨¤¾ÒÍ £À÷ÁÖ £i{ø»PøÍ GÊxP. 

19. State the limitations for using MS Access. 

 MS Access £¯ß£õmi¾ÒÍ SøÓ£õkPøÍ ÂÁ›. 

20. What are the role of slide show for your study? 

 EÚx £i¨¤À Põm] vøμ°h¼ß £[S ¯õx? 

———————— 
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Commerce 

SPECIAL ACCOUNTS 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by non-banking assets? 

 Á[Q \õμõu ö\õzxUPÒ GßÓõÀ GßÚ? 

2. What is capital structure? 

 ‰»uÚ Aø©¨¦ GßÓõÀ GßÚ? 

3. Definition of ‘Surrender value’. 

 \μnøhuÀ ‘©v¨¦ Áøμ¯øÓ’. 

4. What is insurance premium? 

 Põ¨¥mkz öuõøP GßÓõÀ GßÚ? 

5. What is Revenue Account? 

 Á¸Áõ´ PnUS GßÓõÀ GßÚ? 

6. What is single account? 

 JØøÓ PnUS GßÓõÀ GßÚ? 

Sub. Code 
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7. What is subsidiary company? 
 xøn {ÖÁÚ® GßÓõÀ GßÚ? 

8. What is capital profit? 
 ‰»uÚ »õ£® GßÓõÀ GßÚ? 

9. What do you mean by stevedoring charges? 
 Pmhn[PÎÀ {ºÁQ¨£uß ‰»® }[PÒ GßÚ 

ö\õÀQÕºPÒ. 

10. What do you mean by voyage in progress? 
 £¯nzvß •ß÷ÚØÓ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) From the following information find out the amount 
of provisions to be show in the profit and loss 
account of a commercial bank. 

Assets In lakhs 

Standard 4,000 

Sub standard asset 2,000 

Doubtful upto one year 900 

Doubtful upto three year 400 

Doubtful more than three years 300 

Loss assets 500 
  J¸ ÁoP Á[Q°ß »õ£® ©ØÖ® CÇ¨¦ PnUQÀ 

Põmh£h ÷Ási¯ ÂvPÎß AÍøÁ ¤ßÁ¸® 
uPÁÀPÎ¼¸¢x PshÔ¯Ä® 

ö\õzxUPÒ »m\zvÀ

{ø»¯õÚ 4,000 
xøn {ø» ö\õzxUPÒ 2,000 
J¸ BsiØPõÚ I¯UPhß 900 
‰ßÖ BsiØPõÚ I¯UPhß 400 
‰ßÓ Bsk ÷©À EÒÍ I¯UPhß 300 
CÇ¨¦ ö\õzxUPÒ 500 

Or 
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 (b) Write short note on classification of advances in the 
case of a banking company. 

  J¸ Á[Q {ÖÁÚzvß Ph ÁøP¨£õk SÔzu ]Ö 
SÔ¨ø£ GÊx[PÒ. 

12. (a) A life insurance assurance company prepared its 
revenue a/c for the year ended 31.3.2006 and 
ascertain  its life assurance fund to be Rs. 28,35,000 
it was founder that the following had been omitted 
from the accounts. 

(i) Interest accured on investment. Rs. 39,000 

  (ii) Outstanding premium                      Rs. 32,800 

  (iii) Bonus utilized for reduction  

   for premium   Rs. 6,750 

  (iv) Claims intimated but not admitted Rs. 17,400 

  (v) Claims covered under insurance Rs. 6,500  

  What is the true life Assurance fund? 

  B²Ò Põ¨¥mk EzuμÁõu {ÖÁÚ® 31.3.2006 Ehß 
•iÁøh¢u BsiØPõÚ Á¸Áõø¯ PnUS u¯õº 
ö\´x, Auß B²Ò Põ¨¥mk {vø¯ ¹. 28,35,000 
BPU PshÔ¢ux, ¤ßÁ¸£øÁ PnUSPÎß C¸¢x 
Â»UP¨£mkÒÍÚ. 

  (i) •u½miß «uõÚ SÂ¢u Ámi ¹.39,000 

  (ii) öPõk£h÷Ási¯ Põ¨¥mk •øÚ©® 
¹.32,800 

  (iii) •øÚ©z öuõøP SøÓUP £¯ß£kzv¯ 
÷£õÚì ¹.6,750 

  (iv) E›ø©U ÷Põ›UøP öu›ÂUP¨£mk® 
AÝ©vUP¨£hõux ¹.17,400 

  (v) Põ¨¥mi»h[S® E›ø© ÷Põ›UøP ¹.6,500  

   ÷©ØPõs£øÁ öPõsk Esø©¯õÚ ÁõÌUøP 
EÖvUPõÚ öuõøP ¯õx? 

Or 
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 (b) A life insurance company get valuation made once 
in every 2 years. Its life assurance fund 31.3.06 
amounted to Rs. 63,84,000 before providing  
Rs. 64,000 for the shareholders dividend for the 
year 2005-2006. Its acturial valuation due on 
31.3.2006 disclosed a net liability of Rs. 60,80,000 
under assurance annuity contracts. An interium 
bonus of Rs. 80,000 was paid to policy holders 
during the two years end 31.3.2006 prepare a 
statement showing the amount now available as 
bonus to policy holders.  

  J¸ B²Ò Põ¨¥mk {ÖÁÚ® JÆöÁõ¸ 2 
Á¸h[PÐUS® J¸ •øÓ ©v¨¥k ö£ÖQÓx. B²Ò 
Põ¨¥mk {v. 31.3.2006 ¹. 63,84,000 BS® 
2005&2006 B® BsiØPõÚ £[SuõμºPÎß 
DÄzöuõøPUS 64,000. 31.3.2006 AßÖ Auß 
ö\¯À£õmk ©v¨¥k EzuμÁõu Á¸hõ¢vμ 
J¨£¢u[PÎß RÌ ¹. 60,80,000 {Pμ ö£õÖ¨ø£ 
öÁÎ¨£kzv¯x. 31.3.2006 Ehß •iÁøh¢u 
Cμsk BskPÎß £õ¼]uõμºPÐUS ¹. 80,000 
CøhUPõ» öÁS©v ÁÇ[P¨£mhx. 

  £õ¼]uõμºPÐUS öÁS©v¯õP C¨÷£õx QøhUS® 
öuõøP°À Põmk® AÔUøPø¯z u¯õ›UPÄ®. 

13. (a) What are the disadvantages of double accounts 
system? 

  Cμmøh PnUS •øÓ°ß wø©PÒ GßÚ? 

Or 

 (b) The Indian Gas Company rebuilt of their works 
with double the capacity at a cost of Rs. 8,00,000/- 
the cost of the part of old works was Rs. 3,50,000. In 
working new works old materials of Rs. 15,000 was 
reused and material Rs. 25,000 was sold away. The 
cost of labour and materials are 50% higher now 
than when the old works were built. Pass journal 
entries. 
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  C¢v¯ G›Áõ² {ÖÁÚ® ¹. 8,00,000 ö\»ÂÀ C¸ 
©h[S vÓß öPõsh u[PÒ £øh¨¦PøÍ «sk® 
Pmi¯x. £øÇ¯ £øh¨¦PÎÀ J¸ £Sv°À Âø» 
¹. 3,50,000. ¦v¯ £øh¨¦PÎÀ ¹. 15,000 £øÇ¯ 
ö£õ¸mPÒ «sk® £¯ß£kzu¨£mhÚ ©ØÖ® 
ö£õ¸Ò ¹. 25,000 ÂØP¨£mhx. öuõÈ»õÍº ©ØÖ® 
ö£õ¸mPÎß Âø» £øÇ¯ £øh¨¦PÒ 
Pmh¨£mhøu Âh C¨÷£õx 50% AvP®. 
SÔ¨÷£mk £vÂøÚ u¸P. 

14. (a) On 31.12.2013 X Ltd acquired 80% equity shares of 
Y Ltd. The P & L a/c and general reserve balances 
as per balance sheet of Y Ltd prepared on 
31.12.2013 amounting to Rs. 6,80,000 and Rs. 
1,44,000 respectively. On the date of acquisition of 
shares the assets of Y ltd were revalue and gain of 
Rs. 1,20,000 was found out. Calculate capital profit 
and revenue profit. 

  31.12.2013 AßÖ ¼ªöhm {ÖÁÚzvß 80% 
\õuõμn £[SPøÍ Áõ[Q¯x. 31.12.2013 AßÖ 
u¯õ›UP¨£mh ¼ªöhm C¸¨¦ {ø» »õ/| PnUS 
©ØÖ® ö£õx C¸¨¦ {¾øÁPÒ ¹.6,80,000 ©ØÖ® 
¹. 1,44,000 •øÓ÷¯. £[SPøÍ øP¯P¨£kzx® 
÷uv°À ¼ªöhm ö\õzxUPÒ ©Ö©v¨¥k 
ö\´¯¨£mk ¹. 1,20,000 Buõ¯® 
Psk¤iUP¨£mhx. ‰»uÚ »õ£® ©ØÖ® Á¸Áõ´ 
»õ£zøu PnUQk[PÒ. 

Or 

 (b) Explain what does a company become a holding 
company. 

  J¸ {ÖÁÚ® J¸ øÁzv¸¨¦ {ÖÁÚ©õP ©õÖ® 
Gß£øu ÂÍUS[PÒ. 
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15.  (a) The S.S. Ody under took a voyage from Chennai to 
Kolkata starting on 1st January 2002 and reaching 
on 31st March 2002 and reaching on 31st March 
2002. The cargo consisted of 900 ton of food grains 
and 100 tons of engineering goods. The freight 
charges were Rs. 150 per ton for food grains and Rs. 
100 per ton per engineering goods in addition, 
primage was 10%. Brokerage was payable at 5%. 

 Chennai Kolkata

 Rs. Rs. 

The expenses were   

Diesel 20,000 –

Port charges 12,000 3,000

Loading charges 2,000

Other expenses were (Rs.) : 

Stores 2,000

Postage 1,000

Salaries 10,000

  The ship was insured for Rs. 10,00,000 @ 1% for 
voyage policy of Hull. The freight was insured  
@ ½ %. Depreciation is charged on the written down 
value of the ship @ 5% p.a. the value of ship as on  
1st January, 2002 was Rs. 8,00,000 prepare voyage 
account. 
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  Gì.Gì. Ki ö\ßøÚ°¼¸¢x öPõÀPzuõÄUS 
áÚÁ› 1, 2002 •uÀ öuõh[Q 2002 ©õºa 31 B® 
÷uv ©ØÖ® ©õºa 31, 2002 Áøu ö\ßÓx \μUS 900 
hß EnÄ uõÛ¯[PÒ ©ØÖ® 100 hß ö£õÔ°¯À 
ö£õ¸mPøÍU öPõsi¸¢ux. \μUS Pmhn® EnÄ 
uõÛ¯[PÐUS hßÝhPS ¹. 150 ©ØÖ® 
ö£õÔ°¯À ö£õ¸mPÐUS hß 100 hõ»º Tku»õP, 
•ußø©¯õÚx 10% BS® uμS 5%  

 ö\ßøÚ öPõÒPzuõ

 ¹. ¹. 

ö\¾zu¨£mhx ö\»ÄPÒ   

j\À 20,000 –

xøÓ•P Pmhn[PÒ 12,000 3,000

HØÖuÀ Pmhn[PÒ 2,000

¤Ó ö\»ÄPÒ (¹.) 

PøhPÒ 2,000

u£õÀPÒ 1,000

\®£Í® 10,000

  Eª £¯nz öPõÒøPUPõP P¨£À 10,00,000 @ 1% 
US Põ¨¥k ö\´¯¨£mhx \μUS Põ¨¥k 
ö\´¯¨£mhx 1/2%. P¨£¼ß GÊu¨£mh ©v¨¤À 
÷u´©õÚ® Á`¼UP¨£kQÓx @ 5% p.a.  
áÚÁ› 1, 2002 {»Áμ¨£i P¨£¼ß ©v¨¦, 
8,00,000 £¯nU PnUøPz u¯õ›UPÄ®. 

Or 

 (b) Explain the expenditures and incomes relating to 
voyage account. 

  £¯nU PnUSPÒ öuõhº£õÚ ö\»ÄPÒ ©ØÖ® 
Á¸©õÚ[PøÍ ÂÍUS[PÒ. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following information find out the amount of 
provision required to be made in the profit and loss 
account of a commercial bank for the year ended 31st 
March, 2011. 

(a) Packing credit outstanding from food processors Rs. 
60 lakhs against which the bank holds securities 
worth Rs. 15 lakhs. 40% of the above advance is 
covered by ECGC. The above advance has remained 
doubtful for more than 3 years. 

 (b) Other advances : 

Assets classification In lakhs 

Standard 3,000 

Sub-standard 2,200 

Doubtful :  

For one year 900 

For two year 600 

For three years 400 

For more than 3 years 300 

Loss assets 600 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x, 2011 ©õºa 31 B® ÷uv²hß 
•iÁøh¢u BsiØPõÚ ÁoP Á[Q°ß »õ£® ©ØÖ® 
|mh PnUQÀ ö\´¯ ÷Ási¯ HØ£õkPÎß AÍøÁU 
PshÔ¯Ä®. 
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(A) 60 »m\® Phß {¾øÁ°À EÒÍx, AuØS GvμõP 

Á[Q ¹. 15 »m\® ©v¨¦ÒÍ £zvμ[PøÍ 

øÁzv¸UQÓx. ÷©ØPsh •ßTmi÷¯ 40% 
÷©ØPsh •ßTmi¯ 3 BskPÐUS® ÷©»õP 
\¢÷uP©õP EÒÍx 

 (B) Cuμ •ß£n[PÒ 

ö\õzx ÁøP¨£õk »m\zvÀ

{ø»¯õÚ 3,000 

xøn&{ø»¯õÚ 2,200 

Áõμõ I¯UPhß :  

J¸ Á¸hzvØS 900 

Cμsk BsiØS 600 

‰ßÖ BsiØS 400 

3 BskPÐUS® ÷©»õP 300 

CÇ¨¦ ö\õzxUPÒ 600 

17. Prepare Revenue account, balance sheet format of life 
insurance company. 

 B²Ò Põ¨¥mk {ÖÁÚzvß Á¸Áõ´ PnUS, C¸¨¦ 
{ø» ÁiÁzøuz u¯õ›UPÄ®. 

18. Distinguish between Double account system and single 
account system. 

 Cμmøh PnUS Aø©¨¦ ©ØÖ® JØøÓ PnUS Aø©¨¦ 
BQ¯ÁØÖUS Cøh°À ÷ÁÖ£k[PÒ. 
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19. The balance sheets of C ltd and D ltd as 31st Dec., 1986 
are as follows : 

 C ltd 
Rs. 

 D ltd 
Rs. 

  C ltd 
Rs. 

D ltd 
Rs. 

Share cap. (in 
shares of Rs. 
10 each) 

 
2,00,000 

  
1,00,000 

 Sundry 
assets 1,32,000 1,38,200

General 
Reserve 

18,000  20,000  Goodwill – 20,000

P & L a/c 24,500  23,000  Shares in
Creditors 30,000  15,200  D Ltd 1,40,000 –

 In case of D ltd., profit of the year ended 31st Dec., 1986 is 
Rs. 12,000 and transfer to reserve is Rs. 5,000. The 
holding of C ltd., is 90% acquired on 30th June 1986. 
Calculate the revenue profit. 

 C ¼ªöhm ©ØÖ® D ¼ªöhm&°ß 31.12.1986ß C¸¨¦ 
{ø» SÔ¨¦ ¤ßÁ¸©õÖ  

 C 
¼ªöhm 

¹. 

 D ¼ªöhm 
¹. 

  C 
¼ªöhm

¹. 

D ¼ªöhm 
¹. 

£[S •uÀ. 
(£[Qß u»õ 

¹. 10) 

 

2,00,000 

  

1,00,000 

 £Ø£» 
ö\õzxUPÒ 

1,32,000 1,38,200

ö£õxUPõ¨¦ 18,000  20,000  |Øö£¯º – 20,000

C»õ£ |mh 
PnUS 

24,500  23,000  D ¼ªöhm &ß 
£[S 

1,40,000 –

PhÜ¢÷uõº 30,000  15,200   

 D ¼ªöhm 31.12.1986 ß BsiÀ •iÁøh¢u C»õ£® 
¹. 12,000 ©ØÖ® ö£õxUPõ¨¦ ¹. 5,000. CvÀ  C ¼ªöhm 
30.6.1986À 90% Á¸Áõ´ CÚ C»õ£zøu PnUQkP. 
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20. S.S. Jaihind commenced a voyage on October, 2001 from 
Mumbai to London and back the voyage was completed 
on November 30, 2001. It carried a consignment of tea on 
its out word journey and of machinery on its return 
journey. The ship was insured and annual premium was 
Rs. 1,20,000 prepare voyage account from the following 
particulars 

 Rs. 

Freight earned (outward) 5,00,000 

Freight earned (inward) 3,50,000 

Port dues 25,000 

Bunker cost 1,50,000 

Stores 84,000 

Wages and salaries 2,50,000 

Sundry expenses 25,000 

Passage money received 50,000 

Lighterage charge 33,000 

Annual depreciation 4,80,000 

 Address commission 5% on outward and 4% on inward 
freight. Primage is 5% on freight the manager is entitled 
5% commission the profit earned after charging such 
commission. Stores and coal in hand were valued at 1 Rs. 
15,000 on November 30, 2001. 
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 Gì.Gì. öá® î¢z AU÷hõ£º, 2001 AßÖ •®ø£°À 
C¸¢x »ßhÝUS v¸®¤ ö\ßÓx. |Á®£º 30, 2001 
AßÖ £¯n® •i¢ux. Auß öÁÎ¨¦Ó £¯nzvÀ 
÷u°ø» ©ØÖ® Auß v¸®¦® £¯nzvÀ C¯¢vμ[PøÍ 
Gkzxa ö\ßÓx. 

 P¨£À Põ¨¥k ö\´¯¨£mhx ©ØÖ® Bsk \¢uõ 
¹.1,20,000 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x £¯nU PnUøPz 
u¯õ›UPÄ®. 

 ¹.

\μUS \®£õvzux (öÁÎ¨¦Ó®) 5,00,000 
\μUS \®£õvzux (EÒ÷|õUQ) 3,50,000 
xøÓ•P {¾øÁz öuõøP 25,000 
£x[Q SÈ ö\»Ä 1,50,000 
PøhPÒ 84,000 
Fv¯[PÒ ©ØÖ® \®£Í[PÒ 2,50,000 
£Ø£» ö\»ÄPÒ 25,000 
ö£Ó¨£mh £n® 50,000 
Pmhn® 33,000 
Bsk ÷u´©õÚ® 4,80,000 

 •PÁ› uμS 5% öÁÎ¨¦Ózv¾® ; 4% EÒ \μUSPÎ¾® 
\μUSPÎÀ 5% BS®. AzuøP¯ uμS Á`¼zu ¤ßÚº 
\®£õvzu »õ£zvÀ ÷©»õÍ¸US 5% uμS E›ø© Esk. 
|Á®£º 30, 2001 AßÖ øP°À C¸¢x PøhPÒ ©ØÖ® 
{»UP› ©v¨¦ ¹.15,000 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define management Accounting. 

 ÷©»õsø© PnUQ¯À Áøμ¯Ö. 

2. Give any two objectives at management accounting.  

 ÷©»õsø© PnUQ¯¼ß H÷uÝ® Cμsk ÷|õUP[PøÍ 
u¸P. 

3. List out any two objectives at financial statement.  

 {v{ø» AÔUøP°ß H÷uÝ® Cμsk ÷|õUP[PÒ u¸P. 

4. Define ratio analysis.  

 ÂQuõa\õμ £S¨£õ´Ä Áøμ¯Ö. 

5. What is meant by cash inflow?  

 öμõUP® EÒ|h©õmh® Gß£x ¯õx? 

6. Define fund flow statement?  

 {vKmh AÔUøP&Áøμ¯Ö. 

Sub. Code 
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7. Define budgetary control.  

 vmh¨£mi¯À Pmk¨£õk&ÁøμÂ»UPn® u¸P. 

8. What do you mean by zero base budgeting?  

 §äâ¯ Ai¨£øh°»õÚ ÁμÄ ö\»Ä vmhzøu £ØÔ }Âº 
AÔÁx GßÚ? 

9. What is meant by margin of safety?  

 CÖv{ø» £õxPõ¨¦ Gß£x ¯õx? 

10. What is the formula used to calculate BEP? 

 C»õ£ |mhªÀ»õu \©{ø»°øÚ PnUQk® `zvμ® 
¯õx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the uses of management accounting?  

  ÷©»õsø© PnUQ¯¼ß £¯ßPøÍ TÖP. 

Or 

 (b) Explain the importance of management accounting.  

  ÷©»õsø© PnUQ¯¼ß •UQ¯zxÁzøu ÂÁ›. 

12. (a) Calculate P/V ratio from the following.  

 Rs. 

Sales 5,00,000 

Variable cost 3,00,000 

Fixed cost 1,00,000 
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  öPõkUP¨£mh Â£μ[PÎ¼¸¢x »õ£ £[S ÂQu® 
PnUQkP 

 ¹. 

ÂØ£øÚ 5,00,000 

©õÖ£k® ö\»Ä 3,00,000 

{ø»¯õÚ ö\»Ä 1,00,000 

Or 

 (b) From the following details. Find out  

(i) Current assets 

  (ii) Current liabilities and  

  (iii) Stock current ratio 2:5 Liquidity ratio = 1.5 
working capital Rs. 60,000 

  öPõkUP¨£mh ÂÁμ[PÎ¼¸¢x  

  (i) |h¨¦ ö\õzx 

  (ii) |h¨¦ ö£õÖ¨¦PÒ 

  (iii) \μUQ¸¨¦ BQ¯øÁPøÍ Psk¤i 
|h¨¦ÂQu® = 2:5 Aª» ÷\õuøÚ  
ÂQu® = 1.5 |øh•øÓ ‰»uÚ® = ¹.60,000. 

13. (a) From the following calculate cash from operations  

 Rs. 

Net profit for the year 2015 30,000 

Total sales for 2015 60,000 

Debtors on 1.1.2015 20,000 

Debtors on 31.12.2015 10,000 
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  RÌPskÒÍÁØÔ¼¸¢x ö\¯À£õkPÎ¸¢x öμõUP 
C¯UPzøu PnUQkP 

 ¹. 

{Pμ C»õ£® 2015 Á¸hzvÀ 30,000 

ö©õzu ÂØ£øÚ 2015 Á¸hzvÀ 60,000 

1.1.2015 À PhÚõÎPÒ 20,000 

31.12.2015 À PhÚõÎPÒ 10,000 

Or 

 (b) Compute cash from operations from the following 

 Rs. 

Net profit for the year 2009-2010 80,000 

Depreciation written off on fixed assets 11,000 

Profit on sale of building 22,000 

Loss on sale of machine  13,000 

Increase in current assets (except cash) 46,000 

Increase in current liabilities 29,000 

  RÌÁ¸® uPÁÀPÎ¼¸¢x ö\¯ÀÁÈ öμõUP® 
PnUQkP 

 ¹. 

2009-2010 B® BskUPõÚ {Pμ C»õ£® 80,000 

{ø»a ö\õzxUPÒ «x ÷£õUöPÊv¯ 
÷u´©õÚ® 

11,000 

Pmih® ÂØÓzvß «x C»õ£® 22,000 
C¯¢vμ® ÂØÓzvß «x |mh® 13,000 
|øh•øÓ 1 |h¨¦ ö\õzxUPÒ E¯ºÄ 
(öμõUP® uÂμ) 

46,000 

|h¨¦ ö£õÖ¨¦PÒ SøÓÄ 29,000 
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14. (a) Write the following data for a 60% activity prepare 
a flexible budget for production at 80% and 100% 
activity: 

  Production at 60% activity – 600 units 

  Materials – Rs. 100 per unit 

  Labour – Rs.40 per unit 

  Expenses – Rs. 10 per unit 

  Administrative Expenses – Rs.30,000 (60% fixed) 

  Factory Expenses – Rs,40,000 (40% Fixed). 

  60% ö\¯ÀvÓß Eøh¯ RÌPõq® uPÁÀPøÍ 
öPõsk 80% ©ØÖ® 100% ö\¯À vÓÝUS›¯ 
ö|QÌÄ vmhzøu u¯õº ö\´P. 

  60% ö\¯ÀvÓÛß EØ£zv – 600 A»SPÒ 

  ‰»¨ö£õ¸Ò – A»S JßÖUS ¹. 100 

  T¼ – A»S JßÖUS ¹. 40 

  ö\»ÂÚ[PÒ – A»S JßÖUS ¹. 10 

  {ºÁõP ö\»ÄPÒ ¹. 30,000 (60% {ø»¯õÚx) 

  Bø» ö\»ÄPÒ ¹. 40,000 (40% {ø»¯õÚx) 

Or 

 (b) Explain the advantages of budgetary control.  

  vmh Pmk¨£õmiß |ßø©PøÍ ÂÁ›UPÄ®. 

15.  (a) What are the limitations at break even analysis? 

  C»õ£ |mhªÀ»õ \©{ø»¨ £S¨£õ´Âß 
SøÓ£õkPÒ ¯õx? 

Or 
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 (b) From the following calculate BEP in units and 
volume  

Sales – 3000 units  

Selling price per unit – Rs. 30 

  Variable cost per unit – Rs. 20 

  Total fixed cost – Rs. 20,000. 

  RÌPõq® ÂÁμ[PÎ¼¸¢x C»õ£ |mh 
A»SPÎ¾® ©v¨¤k® PõsP 

  ÂØ£øÚ – 3000 A»SPÒ 

  J¸ A»SUS›¯ ÂØ£øÚ Âø» & ¹. 30 

  J¸ A»SUS›¯ ©õÝ® ö\»Ä & ¹. 20 

  ö©õzu {ø»¯õÚ ö\»Ä & ¹. 20,000. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Differentiate between cost accounting and management 
accounting.  

 AhUPÂø» PnUQ¯À, ÷©»õsø© PnUQ¯À 
BQ¯ÁØÔØQøh÷¯ EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

17. From the data, calculate  

 (a) Gross profit ratio 

 (b) Net profit ratio 

 (c) Return on total assets  

 (d) Inventory turnover  

 Rs. 

Sales 25,20,000 

Cost of sales 19,20,000 

Net profit  3,60,000 
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 Rs. 

Inventory  8,00,000 

Other current assets 7,60,000 

Fixed assets 14,40,000 

Net worth 15,00,000 

Debt 9,00,000 

Current liabilities 6,00,000 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x PnUQkP 

 (A) ö©õzu C»õ£ ÂQu® 

 (B) {Pμ C»õ£ ÂQu® 

 (C) ö\õzxUPÒ «x Á¸©õÚ® ÂQu® 

 (D) \μUS _ÇØ] 

 ¹. 

ÂØ£øÚ 25,20,000 

ÂØ£øÚ AhUP® 19,20,000 

{Pμ C»õ£® 3,60,000 

\μUQ¸¨¦ 8,00,000 

Cuμ |h¨¦ ö\õzxUPÒ 7,60,000 

{ø» ö\õzxUPÒ 14,40,000 

£[Suõμº •uÀ 15,00,000 

PhßPÒ 9,00,000 

|h¨¦ ö£õÖ¨¦PÒ 6,00,000 
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18. Calculate funds from operations from the following 
income statement 

Income statement 
 Rs.   Rs. 

To rent paid 25,000  By gross income 5,00,000
To salaries paid 1,00,000  By profit on sale 
   on vehicle 3,000
To provision for    By refund of tax 2,000
depreciation 50,000  By dividend received 10,000
To common paid 5,000   
To provision     
for taxation 1,50,000   
To general reserve 3,000   
To loss on sale of     
investment 10,000   
To cost of issue of     
shares written off 2,000   
To provision for legal     
damages 5,000   
To net income 1,65,000   
 5,15,000   5,15,000

 ¤ßÁ¸® Á¸Áõ´ AÔUøP°¼¸¢x ö\¯ÀÁÈ {v°øÚ 
PnUQkP. 

Á¸Áõ´ AÔUøP 
 ¹.   ¹. 

ÁõhøP ö\¾zv¯x 25,000  ö©õzu C»õ£® 5,00,000
\®£Í® ö\¾zv¯x 1,00,000  ÁõPÚ® ÂØÓvß 

   «uõÚ C»õ£® 3,000
÷u´©õÚzvß «uõÚ    Á› v¸®£ ö£ØÓx 2,000
JxURkPÒ 50,000  £[Põu¯® ÂØÓx 10,000
PÈÄ öPõkzux 5,000   
Á›PÒ «uõÚ     
JxURkPÒ 1,50,000   
ö£õx Põ¨¦PÒ 3,000   
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•u½kPÒ ÂØÓzvÀ     
HØ£mh |mh® 10,000   
v¸®¤ ö£Ó¨£mh     
£[SPÎß     
«uõÚ ö\»ÄPÒ 2,000   
\mhŸv¯õÚ     
£Êuøh¢uØUS    
JxURkPÒ 5,000   
{Pμ C»õ£® 1,65,000   
 5,15,000   5,15,000

19. From the following profit and loss account, calculate 
funds from operations.  

Particulars Rs. Particulars Rs. 
To expenses paid  1,00,000 By gross profit 2,00,000
To depreciation 40,000 By gain on sale 
  of machinery 20,000
To loss on sale of    
building 15,500   
To discount 500   
To goodwill  12,000   
To net profit 52,000   

 2,20,000  2,20,000

 RÌPõq® »õ£ |mh PnUQ¼¸¢x ö\¯¼À C¸¢x Á¸® 
{vø¯ PõsP 
Â£μ[PÒ ¹. Â£μ[PÒ ¹. 

ö\¾zv¯ ö\»ÄPÒ  1,00,000 ö©õzu  

÷u´©õÚ® 40,000 C»õ£® 2,00,000
Pmih® ÂØÓvÀ BÚ  C¯¢vμ®  

|èh® 15,500 ÂØÓvÀ Qøhzu

uÒÐ£i 500 Buõ¯® 20,000 
|ß©v¨¦ 12,000   
{Pμ C»õ£® 52,000   
    

 2,20,000  2,20,000
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20. Prepare cash budget for 3 months ending June 2016 from 
the following data 

Months Sales 
Rs. 

Purchase
Rs. 

Wages
Rs. 

February 1,80,000 1,24,800 12,000
March 1,92,000 1,44,000 14,000
April 1,08,000 2,43,000 11,000
May 1,74,000 2,46,000 10,000
June 1,25,000 2,68,000 15,000

 Other information:  
 (a) 50% of credit sales is realized in the following 

month of the sale and the other 50% in the second 
month following. Creditors paid in the month 
following the month purchase.  

 (b) Wage are paid at the end of the respective month 
 (c) Cash at bank 1st April Rs. 25,000 
 R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÎ¼¸¢x áúß 2016 À 

•iÁøh²® 3 ©õuzvØPõÚ öμõUP vmh¨ £mi¯ø» 
u¯õ›UPÄ®. 

©õu[PÒ ÂØ£øÚ 
(¹.) 

öPõÒ•uÀ
(¹.) 

T¼ 
(¹.) 

¤¨μÁ› 1,80,000 1,24,800 12,000
©õºa 1,92,000 1,44,000 14,000
H¨μÀ 1,08,000 2,43,000 11,000
÷© 1,74,000 2,46,000 10,000
áúß 1,25,000 2,68,000 15,000

 ¤Ó uPÁÀPÒ 
 (A) Phß ÂØ£øÚ°À 50% Akzu ©õu•® «v 50% 

AuØS Akzu ©õu•® ö£Ó¨£k®. öPõÒ•u¾UPõÚ 
öuõøPø¯ PhÚõÍºPÐUS J¸ ©õuzvØS ¤ÓS 
ö\¾zu¨£h ÷Ásk®. 

 (B) T¼ A¢u¢u ©õu CÖv°À ö\¾zu¨£k® 
 (C) H¨μÀ •uÀ ÷uv°À Á[Q°À öμõUP°¸¨¦  

¹. 25,000. 

—————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is health? 

 B÷μõUQ¯® GßÓõÀ GßÚ? 

2. What is wages? 

 T¼ GßÓõÀ GßÚ? 

3. What is trade union? 

 öuõÈØ \[P® GßÓõÀ GßÚ? 

4. What is advisory board? 

 B÷»õ\øÚ SÊ Gß£x ¯õx? 

5. What is dispute? 

 uPμõÖ GßÓõÀ GßÚ? 

6. What is lock out? 

 PuÁøh¨¦ GßÓõÀ GßÚ? 
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7. What is accident? 

 Â£zx GßÓõÀ GßÚ? 

8. What is partial disablement? 

 £Sv •hUP® GßÓõÀ GßÚ? 

9. What is Provident Fund Scheme? 

 Á¸[Põ» øÁ¨¦ {v vmh® GßÓõÀ GßÚ? 

10. What is claim? 

 E›ø© ÷PõμÀ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write one main provisions relating to safety of 
workers. 

  öuõÈ»õÍºPÎß £õxPõ¨¦ SÔzu •UQ¯ ÂvPøÍ 
GÊxP. 

Or 

 (b) State the concepts of working hours in a factory. 

  öuõÈØ\õø»°À £o¦›²® Põ»® SÔzu 
P¸zxUPøÍ ÂÁõv. 

12. (a) What are the rights of registered trade union? 

  £vÄ ö\´¯¨£mh öuõÈØ\[Pzvß E›ø©PÒ 
¯õøÁ? 

Or 

 (b) What are the importance of minimum wages? 

  SøÓ¢u£m\ T¼°ß •UQ¯zxÁ[PÒ ¯õøÁ? 
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13. (a) When is strike said to be illegal? 

  ÷Áø»{Özu® G¨÷£õÊx \mhzvØS 
¦μ®£õÚuõQÓx?  

Or 

 (b) What do you know about Lay off? 

  £o }UP® SÔzx }Âº AÔÁx ¯õx? 

14. (a) State the scope of workman’s compensation Act, 
1923. 

  1923, öuõÈ»õÍº CÇ¨¥mk \mhzvß ÷|õUP[PøÍ 
ÂÁ›. 

Or 

 (b) Write the various kinds of compensation. 

  CÇ¨¥miß £À÷ÁÖ ÁøPPøÍ GÊxP. 

15.  (a) List out the objectives of provident fund scheme. 

  Á¸[Põ» øÁ¨¦ {v vmhzvß ÷|õUP[PøÍ 
£mi¯¼kP. 

Or 

 (b) State the benefits of Employee’s State Insurance 
Act, 1948. 

  1948, öuõÈ»õÍº ©õ{» Põ¨¥mk \mhzvß 
|ßø©PøÍ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the limitations of employment of children in 
factory. 

 öuõÈØ\õø»°À, SÇ¢øuPÒ £o A©ºzxu¼ß 
SøÓ£õkPøÍ ÂÁõv. 
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17. Explain the main functions of Trade Union. 

 öuõÈØ\[P[PÎß •UQ¯ £s¦PøÍ ÂÁ›. 

18. Write the list of authorities under the Industrial Disputes 
Act, 1947. 

 1947, öuõÈÀxøÓ uPμõÖ \mhzvß RÌ AvPõ›PÎß 
£mi¯ø» GÊxP. 

19. State the rules regarding workmen’s compensation. 

 öuõÈ»õÍºPÒ CÇ¨¥k öuõhº£õÚ ÂvPøÍ SÔ¨¤kP. 

20. Discuss the claim procedure as per Employee's State 
Insurance Act, 1948. 

 £o¯õÍº ©õ{» Põ¨¥mk \mh® 1948 Cß £i E›ø© 
÷PõμÀ |øh•øÓ¨ £ØÔ ÂÁõv. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by Gross Total Income? 
 ö©õzu Á¸©õÚ® GßÓõÀ GßÚ? 

2. What do you mean by casual income? 
 \õuõμn Á¸©õÚ® GßÓõÀ GßÚ? 

3. What do you mean by coparcener? 
 ÷Põ£õº\Úº GßÓõÀ GßÚ? 

4. What are the two schools of Hindu law? 
 Cμsk C¢x \mh[PÒ ¯õøÁ? 

5. Who is a tax recovery officer? 
 Á› «m¦ AvPõ› ¯õº? 

6. What do you mean by appeals? 
 •øÓ±kPÍõÀ GßÓõÀ GßÚ? 

7. What do you mean by belated return? 
 uõ©u©õP v¸®¦Áuß ‰»® }[PÒ GßÚ ö\õÀQÕºPÒ. 
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8. What is due date to filling return? 

 Á¸©õÚzøu uõUPÀ ö\´¯ ÷Ási¯ ÷uv GßÚ? 

9. What is TDS certificate? 

 TDS \õßÔuÌ GßÓõÀ GßÚ? 

10. What is payment of advance tax? 

 •ßTmi÷¯ Á› ö\¾zxuÀ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b).  

11. (a) Compute the Income tax payable by the following 
persons for the AY 2022-23. 

  Total Income of Mr. Karthik is 4,50,000 

  Total Income of Mr. Hariharan is 10,00,000 

  Assume that the total Income of Mr. Karthick 
includes long term capital gains 75,000 and  
Mr. Hariharan includes long term capital gains 
2,00,000. 

 AY 2022-23 US ¤ßÁ¸® |£ºPÒ ö\¾zu ÷Ási¯ 
Á¸©õÚ Á›ø¯U PnUQkP. 

  v¸, PõºzvUQß ö©õzu Á¸©õÚ® 4,50,000 

  v¸. í› íμÛß ö©õzu Á¸©õÚ® 10,00,000 

  v¸.PõºzvUQß ö©õzu Á¸©õÚ® }sh Põ» ‰»uÚ 
Buõ¯[PÒ 75,000 ©ØÖ® v¸. í› íμß 2,00,000 
}sh Põ» ‰»uÚ Buõ¯[PøÍ EÒÍhUQ¯x GßÖ 
øÁzxU öPõÒP.  

Or 
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 (b) Mr. Bhola has furnished you the following data. 

Income from house property (1,30,000) 

Salaries (Net) 80,000 

Income from other sources (90,000) 

Income from  Lotteries 3,50,000 

Mr. Bhola is seeking your advice relating to set off 
and carry forward.  

  v¸. ÷£õ»õ E[PÐUS ¤ßÁ¸® uμøÁ 
ÁÇ[Q²ÒÍõº Ãmk ö\õzvß  

  Á¸©õÚ® (1,30,000) 

  \®£Í® ({Pμ) 80,000 

  ¤Ó ‰»[PÎ¼¸¢x Á¸©õÚ® 90,000 

  »õmh›PÎß Á¸©õÚ® 3,50,000 

  v¸. ÷£õ»õ ¦Ó¨£kÁx ©ØÖ® •ßöÚk¨£x 
öuõhº£õÚ E[PÒ B÷»õ\øÚø¯ ÁÇ[SP. 

12. (a) Point out the computation of taxable income of 
HUF. 

  HUF Cß Á›Âv¨¦ Á¸©õÚzøu PnUQkP. 

Or 

 (b) Compute total income of Sri Bhandari from 
following information: 

Taxable salary Net 75,000 

Income from other sources 20,000 

Agricultural Income 4,000 

He deposited in LIC annuity plan 18,000 

He paid medical insurance premium by cheque for 
his dependent blind mother (certified as severe 
disable person) aged 68 years, 20,000. 
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  ÿ. £ßhõ›°ß ö©õzu Á¸©õÚzøu ¤ßÁ¸® 
uPÁÀPÎ¼¸¢x PnUQkP 

  Á› ö\¾zuUTi¯ \®£Í® ({Pμ) 75,000 

  ¤Ó ‰»[PÎ¼¸¢x Á¸©õÚ® 20,000 

  ÂÁ\õ¯ Á¸©õÚ® 4,000 

  AÁº GÀ.I.] Á¸hõ¢vμ vmhzvÀ 18,000. 

  AÁº u[Q°¸US® £õºøÁ¯ØÓ uõ´US (Pkø©¯õÚ 
FÚ•ØÓÁº GÚ \õßÔuÌ ö£ØÓÁº) 68 Á¯x 
20,000. 

13. (a) Write short note on commissioner of Income tax. 

  Á¸©õÚ Á› Bøn¯º SÔzx J¸ ]Ö SÔ¨ø£ 
ÁøμP. 

Or 

 (b) Give a short note on Inspectors of Income Tax. 

  Á¸©õÚ Á› B´ÁõÍºPÒ SÔzx J¸ SÔ¨¦ 
ÁøμP. 

14. (a) State its significance of PAN. 

  PAN Auß •UQ¯zxÁzøu öu›ÂUPÄ®. 

Or 

 (b) What are the payments on which tax is deducted 
same? 

  G¢u Á›°ß ‰»zvÀ PÈUP¨£kQÓx? 

15.  (a) State the schedule of payment of Advance Tax. 

  •ßTmi÷¯ Á› ö\¾zx® AmhÁønø¯ 
SÔ¨¤hÄ®. 

Or 

 (b) State the Interest on late payment of advance tax. 

  •ßTmi÷¯ Á› uõ©u©õP ö\¾zxÁuØPõÚ 
Ámiø¯U SÔ¨¤kP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Compute Gross Total Income of Mr. Shikha from 
following details for the A.Y. 2022-23. 

 Income from house property A 60,000 

 Income from house property B 1,50,000 

 Income from house property C 1,00,000 

 Income from house other sources 1,00,000 

 Losses U/S 22 for the A.Y. 2021-22 (30,000) 

 Losses U/S 22 for the A.Y. 2001-2002 (15,000) 

 Losses U/S 56 for the A.Y. 2021-22 (45,000) 

 A.Y. 2022-23 UPõÚ ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x  
v¸©v. æPõÂß ö©õzu Á¸©õÚzøu PnUQk[PÒ. 

 Ãmk ö\õzvß Á¸©õÚ® A 60,000 

 Ãmk ö\õzx ‰»® Á¸©õÚ® B 1,50,000 

 Ãmk ö\õzx ‰»® Á¸©õÚ® C 1,00,000 

 ¤Ó ‰»[PÎ¼¸¢x Á¸©õÚ® 1,00,000 

 CÇ¨¦PÒ U/S 22 A.Y. 2021-22 (30,000) 

 CÇ¨¦PÒ U/S 22 A.Y. 2001-2002 (15,000) 

 CÇ¨¦PÒ U/S 56 A.Y. 2021-22 (45,000) 

17. Computer the total income of HUF, a resident, from the 
following details. 

 Particulars Amount

(a) Income under head salaries 3,50,000

(b) Income from owning and maintaining 3,00,000

(c) Long term capital gain from sale house plot 90,000

(d) Income from house property – X 50,000

(e) Business Income medicines 5,00,000

(f) Speculative business – A 2,00,000
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 Particulars Amount

(g) Business Income – Textile 3,50,000

(h) Speculative business – B 1,00,000

(i) Income from horse races 1,50,000

(j) Income from house property – Y 3,10,000

(k) Short-term capital gain from sale 1,00,000

 HUF J¸ Si°¸¨£õÍ›ß ö©õzu Á¸©õÚzøu ¤ßÁ¸® 

ÂÁμ[PÎ¼¸¢x PnUQk[PÒ. 

 ÂÁμ[PÒ öuõøP

(A) \®£Í® GßÓ uø»¨¤À Á¸©õÚ® 3,50,000

(B) £¢u¯ SvøμPøÍ ö\õ¢u©õP øÁzv¸zuÀ 

©ØÖ® £μõ©›¨£uß ‰»® QøhUS® 

Á¸©õÚ® 

3,00,000

(C) Ãmk ÂØ£øÚ°¼¸¢x }sh Põ» ‰»uÚ  

Buõ¯® 90,000

(D) Ãmk ö\õzvß Á¸©õÚ® – X 50,000

(E) ÁoP Á¸©õÚ® – ©¸¢xPÒ 5,00,000

(F) FP ÁoP® – A 2,00,000

(G) ÁoP Á¸©õÚ® – áÄÎ 3,50,000

(H) FP ÁoP® – B 1,00,000

(I) Svøμ £¢u¯[PÎ¼¸¢x Á¸©õÚ® 1,50,000

(J) Ãmk ö\õzv¼¸¢x Á¸©õÚ® – Y 3,10,000

(K) SÖQ¯ Põ» ‰»uÚ Buõ¯® 1,00,000
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18. Discuss the power of Director – General Income Tax. 

 Á¸©õÚ Á› C¯US|º öáÚμ¼ß AvPõμ[PøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

19. Discuss the provisions relating to self assessment. 

 _¯ ©v¨¥k öuõhº£õÚ ÂvPÒ £ØÔ ÂÁõvUPÄ®. 

20. Give the format computation of Advance tax. 

 •ßTmi÷¯ Á›°ß ÁiÁø©¨¦ PnURmøhU 
öPõkUPÄ®. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by Auditing?  

 uoUøP GßÓõÀ GßÚ? 

2. Any two Qualities of Auditor.  

 uoUøP¯õÍ›ß Cμsk Sn[PÒ ¯õøÁ? 

3. Define Internal control.  

 EÒPmk¨£õmøh Áøμ¯ÖUPÄ®.  

4. Definition of Audit files.  

 uoUøP ÷Põ¨ø£ Áøμ¯Ö. 

5. What is voucher?  

 EÖva ^mk GßÓõÀ GßÚ? 

6. What is a vouching of trading transaction?  

 ÁºzuP £›ÁºzuøÚ°ß EÖv ö©õÈ GßÓõÀ GßÚ? 

Sub. Code 
7BCOE3A 



F–7975 

  

  2

7. Write short note on Bills receivable.  

 ö£ÖuØS›¯ ©õØÖa ^mk ]Ö SÔ¨¦ ÁøμP.  

8. What is meant by verification of asset?  

 ö\õzx \›£õºzuÀ GßÓõÀ GßÚ? 

9. What is criminal liabilities?  

 SØÓÂ¯À ö£õÖ¨¦PÒ GßÓõÀ GßÚ? 

10. Define liabilities for misfeasance.  

 uÁÓõÚ ö\¯¾UPõÚ ö£õÖ¨¦PÒ Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) Differentiate between Auditing and Investigation.  

  uoUøP ©ØÖ® Â\õμønUS® Cøh÷¯ EÒ 

÷ÁÖ£õmøh ÂÁ›.  

Or 

 (b) What are the advantages of Audit?  

  uoUøP°ß |ßø©PÒ ¯õøÁ? 

12. (a) What are the objectives of Internal check?  

  EÒ÷\õuøÚ°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Explain the Characteristic of Internal control.  

  EÒPmk¨£õmiß £s¦PøÍ ÂÁ›.  
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13. (a) What are the Importance vouchers?  

  EÖva ^miß •UQ¯zxÁ® ¯õøÁ? 

Or 

 (b) Explain the vouching trading transaction.  

  EÖva ^miß ÁºzuP £›ÁºzuøÚø¯ ÂÍUSP. 

14. (a) Briefly explain the different methods of valuation of 
stock.  

  \μUQ¸¨¦ ©v¨¤k® £À÷ÁÖ •øÓPøÍ _¸UP©õP 
ÂÁ›.  

Or 

 (b) How to prepare audit report?  

  uoUøP AÔUøPø¯ GÆÁõÖ u¯õ›¨£x? 

15.  (a) Explain the liabilities for negligence.  

  PÁÚU SøÓÄ ö£õÖ¨¤øÚ £ØÔ ÂÁ›.  

Or 

 (b) What are the legal position of an auditor.  

  uoUøP¯õÍ›ß \mh{ø» ¯õøÁ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the various Qualities of an auditor.  

 uoUøP¯õÍ›ß £À÷ÁÖ Sn[PÒ ¯õøÁ? 

17. Discuss about the importance of Audit working papers.  

 uoUøP ÷Áø» BÁn[PÎß •UQ¯zxÁzøu £ØÔ 
ÂÍUSP. 
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18. Discuss to various step Involved vouching of cash 
transaction.  

 £n £›ÁºzuøÚø¯ EÖv ö\´ÁvÀ £À÷ÁÖ 
|hÁiUøPPøÍ £ØÔ ÂÁõvUP.  

19. Explain the audit report.  

 uoUøP AÔUøP°ß ÁøPPøÍ ÂÁ›.  

20. Briefly explain the liabilities of an Auditor.  

 uoUøP¯õÍ›ß ö£õÖ¨¦PøÍ _¸UP©õP ÂÁ›UPÄ®.  

———————— 


